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Chapter 1
Introduction
1.
Which of the following is the primary objective of a firm?


A.
employees' benefits


B.
satisfaction of customers


C.
satisfaction of suppliers


D.
prompt payment to creditors

*
E.
maximize stockholder wealth

2.
Financial risk involves ___.

A.
fluctuation in exchange rates


B.
different interest and inflation rates


C.
balance of payments position


D.
A and B

*
E.
A, B, and C

3.
Three sweeping changes include ___.

A.
the end of Cold War


B.
industrialization and growth of the developing world


C.
the creation of the North American Trade Agreement 


D.
increased globalization

*
E.
A, B, and D

4.
Managers are generally defined as ___.

A.
stockholders

*
B.
agents


C.
creditors


D.
suppliers


E.
customers

5.
Which of the following is not one of seven principles of global finance?


A.
market imperfection


B.
risk-return tradeoff


C.
portfolio effect


D.
comparative advantage

*
E.
company advantage

6.
Incentives for multinational company managers include the following except ___.

A.
stock options


B.
bonuses


C.
perquisites


D.
salary increases

*
E.
vacation

7.
Environmental factors affecting international operations are as follows except ___.

A.
foreign customs


B.
foreign economic factors


C.
foreign political situations


D.
foreign legal aspect

*
E.
international distance

8.
Three major risks in international business are ___.

A.
political, financial and weather


B.
economic, political and people

*
C.
political, financial and regulatory


D.
accounting, management and information


E.
marketing, ethics and political

9.
Conflicts of interest for multinational corporations do not include ___.

A.
the interests of sovereign governments may be different


B.
the goals of multinationals are divergent from host countries


C.
some conflicts may exist within multinational subsidiaries


D.
multinational companies may conflict with local laws

*
E.
multinational managers live in different time zones

10.
The conflict between owners, employees, suppliers, and customers of a company is known as ___.

A.
regulatory risk


B.
problem of agency


C.
conflict of multiple environments

*
D.
conflict of interests


E.
none of the above

11.
The main differences between domestic and international companies from a financial manager's point of view are largely due to differences in ___.

A.
risks


B.
national laws


C.
economic factors


D.
political factors

*
E.
all of the above

12.
A global company  is an organization that attempts to ___.
A.
have a worldwide presence in its market

B. integrate its operations worldwide

C. standardize operations in one or more of the company's functional areas
D. A and B

*          E.
A, B, and C   

13.
Corporate governance is often narrowly defined as the prudent exercise of ownership rights toward the goal of increased ___.
*
A.
shareholder value

B. profit

C. profit margin on sales

D. asset turnover

E. sales volume

14.
The most common form of shareholder activism includes ___.
A. a shareholder proposal for proxy fight

B. direct negotiation with management

C. public targeting of a corporation

*          D 
A, B, and C   

            E.
A and C only

15.
The OECD Principles of Corporate Governance covers ___.
A. the rights of shareholders

B. the equitable treatment of shareholders

C. the responsibilities of the board

D. disclosure and transparency

*
E.
all of the above

16.
The political, regulatory, technological, and economic forces radically changing the global competitive environment include ___.

A.
the collapse of communism

B.
the privatization of state-owned enterprises around the world

C.
the revolution in information technologies

D.
a wave of mergers, leveraged buyouts, and takeovers

*
E.
all of the above
17.
All of the following have played an important role in the globalization process of the world economy except ___.
A.
advances in information technologies

*
B.
increased tariffs

C.
reductions in trade barriers

D.
reduced transportation and communication costs

E.
reductions in technological barriers

18.
Reductions in transportation and communication costs have ___.

A.
facilitated international production activities

B.
enlarged trading areas

C.
enabled companies to exploit international cost differentials

D.
reduced technological barriers

*
E.
all of the above

19.
Reasons for management to focus on stockholder wealth maximization include ___.
A.
stockholders are the owners of the company

B.
stockholders provide the risk capital that protects the welfare of other constituents

C.
a high stock price provides the best defense against a hostile takeover

D.
enhanced shareholder value makes it easier for the company to attract additional equity capital

*
E.
all of the above

20.
Which of the following statements about financial planning and control is not true?
A.
financial planning and control must be considered simultaneously

B.
the preparation of budgets is a planning function, but their administration is a controlling function

C.
budgets are used to compare actual performance with planned performance
D.
the foreign exchange market plays a key role in MNC financial planning and control

*
E.
all of the above statements are true

21.
The role of the MNC financial manager has expanded in recent years to include ___.
*
A.
corporate strategy

B.
financial planning and control

C.
subsidiary performance

D.
multiple environments

E.
regulatory risks


Chapter 2

Motives for World Trade and Foreign Investment
1.
According to the classical economic theory, international trade takes place between countries based on the       .


A.
absolute advantage of land


B.
absolute advantage of labor


C.
absolute advantage of technology


D.
comparative advantage of skills

*
E.
comparative advantage of cost

2.
According to the theory of factor endowments, a country must specialize in the production and export of any good that uses its large amount of        production factors.


A.
scarce


B.
limited


C.
wasteful

*
D.
abundant


E.
small

3.
A product life cycle theory works only       .


A.
in international trade


B.
in international investment

*
C.
in both international trade and foreign investment


D.
with an exporter who has a monopolistic position


E.
with an importer who has a comparative advantage

4.
Which of the following is not a major form of trade restriction?

*
A.
forfaiting


B.
tariffs


C.
non-tariff barriers


D.
import quotas


E.
countervailing duties

5.
The main functions of the World Trade Organization (WTO) do not include       .


A.
administrating its trade agreements


B.
forum for trade negotiations


C.
technical assistance and training for developing countries


D.
monitoring national trade policies

*
E.
the establishment of trade centers around the world

6.
The major forms of economic cooperation among countries do not include      .


A.
a free trade area

*
B.
a consortium bank


C.
customs union


D.
economic union


E.
political union

7.
Which of the following is a valid argument for protectionism?


A.
national security


B.
unfair competition


C.
domestic employment


D.
A and B

*
E.
A, B, and C

8.
Which of the following is not a main objective of the free trade agreement between the United States and Canada?

*
A.
establish common external tariffs


B.
phase out tariffs between the two countries


C.
liberalize investment laws between the two countries


D.
grant "national treatment" with each other


E.
liberalize the trading relationships between the two countries

9.
Two loose trading blocs in Asia are ___.

A.
ASEAN and NAFTA


B.
ASEAN and EU

*
C.
ASEAN and APEC


D.
NAFTA and EU


E.
APEC and NAFTA

10.
The Eclectic Theory, designed to explain a logical link between trade and investment theories, was developed by ___.

A.
Levy


B.
Snart


C.
Lessard


D.
Nehrt

*
E.
Dunning

11.
Which of the following theories best describes a major motive for international trade?

*
A.
the theory of comparative advantage


B.
portfolio theory


C.
eclectic theory


D.
oligopoly model

E.
none of the above

12.
Nehrt and Hogue suggested that companies invest abroad because of ___.

A.
new markets


B.
raw materials


C.
product efficiency

D.
new knowledge

*
E.
all of the above

13.
Which of the following is not one of benefits of open trade?

*
A.
increased government spending


B.
comparative advantage


C.
increased competition


D.
increased productivity


E.
expanded menu of goods

14.
Which of the following is not  an example of trading bloc?

*
A.
African Union


B.
North American Free Trade Agreement


C.
Mercosur


D.
the Central American Common Market


E.
the Asian Pacific Economic Cooperation

15.
Tariffs on imported goods can be imposed for the following reason(s)       .


A.
revenue


B.
national pride


C.
protection of domestic companies


D.
retaliation

*
E.
A, C, and D

16.
Import quotas specify the        amounts of certain products to be imported during a given period of time.


A.
minimum

*
B.
maximum


C.
unlimited


D.
small


E.
given

17.
The portfolio theory of foreign investment relies on the following variable(s)       .


A.
risk


B.
technology


C.
return


D.
market share

*
E.
both A and C

18.
An oligopoly exists when        firms dominate the market.


A.
many


B.
exactly two


C.
15

*
D.
a few


E.
about 25

19.
The portfolio theory assumes that domestic investment projects tend to be        correlated with foreign investment projects than with other domestic projects.

*
A.
less


B.
more


C.
perfectly negatively


D.
perfectly positively


E.
independently

20.
Which of the following advantages typically is (are) associated with a multinational firm over a domestic firm?


A.
access to technology


B.
differentiated products


C.
access to capital



D.
superior management

*
E.
all of the above

21.
Corporate responses to trading blocs include ___.

A.
direct investment in major trading blocs


B.
joint ventures with firms in major trading blocs


C.
strategic alliances with firms in major trading blocs


D.
A and B

*
E.
A, B, and C

22.
John Dunning argues that a company is willing to invest abroad when it has ___.

A.
ownership-specific advantages

*
B.
benefit-specific advantages


C.
internationalization advantages


D.
location-specific advantages


E.
A, C, and D

23.
Which of the flowing statements concerning economies of scale is false?

A.
it is a synergistic effect said to exist when the whole is worth more than the mere sum of its parts

B.
costs fall as outputs expand
C.
each country should specialize in a limited number of products in which it has a comparative advantage

*
D.
mass production and mass marketing deplete skills and technologies

E.
the functions of production, marketing and purchasing can be consolidated

24.
The synergistic effect said to exist when the whole is worth more than the mere sum of its parts is called ___.

*
A.
economies of scale


B.
differences in taste


C.
the theory of factor endowments

D.
the product life-cycle theory

E.
the theory of comparative advantage

25.
Antidumping duties are ___.

A.
imposed for technical and health regulations

B.
non-tariff barriers

C.
additional import duties imposed to offset an export subsidy by another country

*
D.
customs duties imposed on an imported product whose price is lower than that of the same product in the home market


E.
customs duties imposed on an imported product whose price is higher than that of the same product in the home market

Chapter 3
The Balance of Payments

1.
The balance of payments on current account does not include the following items       .


A.
merchandise exports


B.
invisible trade items (services)


C.
current transfer items

*
D.
foreign stocks and bonds


E.
merchandise imports

2.
The financial account in the balance of payments does not include the following  __ .     


A.
foreign direct investment

*
B.
gold



C.
foreign bank loans


D.
portfolio investment


E.
investment on foreign bonds

3.
Official reserve assets do not include       .


A.
gold


B.
convertible foreign exchange


C.
special drawing rights (SDRs)


D.
British pound

*
E.
Algerian dinars

4.
Credit transactions in the balance of payments do not include  ___.


A.
exports of goods and services

*
B.
investments and interest paid to foreign residents


C.
investment and interest earnings


D.
transfer receipts from foreign residents


E.
investments and loans from foreign residents

5.
The general trend of the US service trade account has been       .


A.
a stable deficit


B.
an increasing deficit


C.
a decreasing deficit


D.
a falling deficit

*
E.
a surplus

6.
Which of the following is not one of the major groups that make up the balance of payments?

A.
current account


B.
capital account


C.
financial account


D.
net errors and omissions

*
E.
profit account

7.
The financial account in the balance of payments does not include ____.



A.
foreign direct investments


B.
foreign portfolio investments

*
C.
exports of goods and services


D.
other investments


E.
A, B, and D

8.
The accounting statement that summarizes all the economic transactions between a country's residents and foreign residents is called the balance of       .


A.
merchandise trade


B.
current account


C.
capital account


D.
official account

*
E.
payments

9.
In a freely floating exchange rate system, a current account deficit should produce a financial account       .

*
A.
surplus


B.
deficit


C.
balance


D.
both A and B


E.
all of the above

10.
During the 1990s, the United States had a        in its current account.


A.
surplus

*
B.
deficit


C.
reasonable balance


D.
both A and B


E.
none of the above

11.
As the real value of the yen rises, the balance on Japan's current account is likely to       .


A.
stay the same


B.
improve

*
C.
deteriorate


D.
cannot tell


E.
none of the above

12.
If a country imposes tariffs on imported goods, then that country's balance of payments will very likely       .

*
A.
improve

B.
deteriorate

C.
stay the same

D.
cannot tell

E.
all of the above

13.
Holding other things constant, an increase in the current account deficit of a country's balance of payments will most likely       .

*
A.
weaken the value of its currency

B.
increase the value of its currency

C.
not affect the value of its currency

D.
all of the above

E.
none of the above

14.
Interest and dividend incomes show up in the       .

A.
merchandise account

B.
reserves and related items

C.
capital account

*
D.
current account

E.
financial account

15.
The current account includes       .

A.
merchandise exports and imports

B.
earnings from invisible trade

C.
unilateral transfer items

D.
A and B

*
E.
A, B, and C

16.
Official reserve assets are composed of       .

A.
gold

B.
convertible foreign exchanges

C.
special drawing rights (SDR)

*
D.
all of the above

E.
A and B

17.
The balance of payments identify states that the combined  balance of current account, capital account, financial account, net errors and omissions, and reserves and related items must be       .

A.
greater than one (1)

B.
less than one (1)

*
C.
equal to zero (0)

D.
between -1 and +1

F. between 1 and 0

18.
World output has grown _____ than world trade during the 1990s.


A. 
faster 

*          B. 
slower


C. 
ten times faster


D. 
all of the above

E. none of the above

19.
The J-curve effect holds that a country's currency depreciation causes its trade balance to ____.

A. deteriorate for a short time

B. flatten out after an initial deterioration

C. significantly improve in the long run

*
D.
A, B, and C

D. A and B only  

20.
To reduce its trade deficit, a country should do all of the following but ____.

A. deflate the economy

B. devalue the currency

C. adopt foreign exchange controls

D. institute trade controls

*
E.
increase money supply 
21.
All of the following statements concerning a country’s balance of payments are true except ___.   

A.
it is commonly defined as the record of transactions between the country’s residents and foreign residents over a specific period

B.
the recorded transactions include exports and imports of goods and services

*
C.
it records only the transactions of business firms

D.
it is used to analyze a country’s competitive position

E.
it is used to forecast the direction of exchange rates

22.
All of the following statements concerning a country’s balance of payments are true except ___.   
A.
it is a sources-and-uses of funds statement

B.
it records transactions that earn or expend foreign exchange

C.
it reflects changes in assets, liabilities, and net worth during a specified period

*
D.
statistics are gathered on a double-entry accounting basis

E.
it records transactions between domestic and foreign residents

23.
A country incurs a surplus in its balance of payments when ___.

A.
credit transactions exceed debit transactions

B.
it earns more abroad than it spends

C.
autonomous receipts exceed autonomous payments
D.
A and B

*
E.
all of the above

Chapter 4
The International Monetary System

1.
Which of the following is not one of advantages for a flexible exchange rate system?


A.
countries can maintain independent monetary policy

*
B.
exchange rates under a flexible system are unstable


C.
countries can maintain independent fiscal policy


D.
flexible exchange rates permit a smooth adjustment to external shocks

E.
Central banks do not need to maintain large reserves

2.
Under the purely fluctuating exchange rate system, the balance of payments imbalances are automatically corrected by the following mechanism       .


A.
speculation


B.
government intervention


C.
interest rate changes

*
D.
supply and demand in exchange markets


E.
none of the above

3.
Which of the following is not directly related to the Bretton Woods system?


A.
1944


B.
the fixed exchange rate system

*
C.
the bank of England


D.
the International Monetary Fund


E.
the World Bank

4.
Which of the following is not directly attributable to the collapse of the fixed exchange rate system?


A.
U.S. balance of payments deficits


B.
the decrease in the U.S. dollar value


C.
the decline of international reserves

*
D.
Japan's trade surplus


E.
none of the above

5.
The Group of Ten got together at the Smithsonian Institution to agree on a wider band system so that exchange rates can fluctuate       .


A.
5% above and below the central rate

*
B.
2.25% above and below the central rate


C.
2% above and below the central rate


D.
4% above and below the central rate


E.
10% above and below the central rate

6.
The Jamaican Agreement was held to amend the Bretton Woods Agreement of the fixed exchange rate system in       .


A.
1973


B.
1975

*
C.
1976


D.
1978


E.
1979

7.
Factors that cause demand and supply schedules for foreign exchange to shift do not include      :


A.
relative inflation rates


B.
relative interest rates

*
C.
different welfare systems


D.
relative income levels


E.
government intervention

8.
The July 1993 currency crisis in Europe caused the European Monetary System to widen the bands within which member currencies could fluctuate against other member currencies, to        of a central value.


A.
14%

*
B.
15%


C.
16%


D.
17%


E.
18%

9.
The objectives of the International Monetary Fund (IMF) are       .


A.
to promote international monetary cooperation


B.
to promote exchange stability


C.
to create standby reserves

*
D.
all of the above


E.
none of the above

10.
The reserve tranche of the International Monetary Fund (IMF) means that by exchanging their own currencies for convertible currencies, a member country may draw       % of its quota.


A.
25


B.
50


C.
75


D.
80

*
E.
100

11.
Which of the following is not a SDR component currency?


A.
US dollar


B.
euro

*
C.
Swiss franc


D.
Japanese yen


E.
British pound

12.
Special drawing rights are used to settle payments by the following organizations except     


A.
IMF member countries


B.
prescribed organizations


C.
central banks

*
D.
multinational corporations


E.
A, B, and C

13.
The euro began public circulation in ____.


A.
1999


B.
2000


C.
2001


D.
2003

*
E.
2002

14.
The dirty floating exchange system was established in     . 


A.
1969

*
B.
1973


C.
1976


D.
1979


E.
1980

15.
The decline of the US dollar value in the late 1980s was mainly attributable to the following agreement       .


A.
Louvre Accord

*
B.
Plaza Accord


C.
Smithsonian Agreement


D.
Jamaica Agreement


E.
None of the above

16.
The Asian currency crisis in 1997 started in      .


A.
Korea

*
B.
Thailand


C.
Indonesia


D.
Hong Kong


E.
Philippines

17.
The September 1992 currency crisis in Europe was mainly attributable to       .


A.
the British currency action

*
B.
the increase in German interest rate


C.
the Danish election


D.
the French currency policy


E.
all of the above

18.
The proposal under which a par value of a currency is adjusted intermittently is referred to as a       .


A.
wide band


B.
narrow band

*
C.
crawling peg


D.
crawling band


E.
gliding band

19.
The quota allotted to a member country of the IMF, which it can borrow at will, is known as        tranche.


A.
gold


B.
basic


C.
member


D.
credit

*
E.
reserve

20.
Economists regard the creation of the Euro as a new European currency in the international monetary system as the most important development since      .


A.
1953


B.
1963

*
C.
1973


D.
1983


E.
1993

21.
A country may link its exchange rate to the value of a major currency, often the US dollar.  This is called       .


A.
a currency par

*
B.
a currency peg


C.
a currency composite


D.
a currency basket


E.
none of the above

22.
If and when the value of the Japanese yen against the US dollar goes up 15%, it affects the following items      .


A.
the price of imported Japanese cars


B.
the price of Japanese cameras


C.
the price of Japanese pearls sold in Troy, Ohio


D.
the price of a Sharp copier in Detroit

*
E.
all of the above

23.
Which of the following currencies is directly linked to the value of gold?


A.
US dollar


B.
Japanese yen


C.
euro


D.
British pound

*
E.
none of the above

24.
A foreign exchange rate ___.
A.
is the par value

B.
is an exchange rate which does not fluctuate

C.
can involve a single currency

*
D.
is the price of one currency expressed in terms of another currency

E.
fluctuates according to market forces

25.
A fixed exchange rate ___.

A.
is an exchange rate which does not fluctuate or which changes within a predetermined band

B.
will have a par value

C.
requires central banks to absorb currency surpluses and eliminate currency deficiencies 

D.
B and C

*
E.
all of the above

26.
A currency board ___.

A.
is a monetary institution that only issues currency to the extent it is fully backed by foreign reserves

B.
is an extreme form of the fixed exchange rate system

C.
involves an exchange rate fixed by law
D.
B and C

*
E.
all of the above

27.
A currency devaluation is ___.

A.
an official increase in the value of a currency by the government of that currency

B.
a rise in the value of a currency against other currencies under a floating system

C.
a decrease in the value of a currency against other currencies under a floating system

*
D.
an official reduction in the par value of a currency under a fixed rate system

E.
a currency board

Chapter 5

The Foreign Exchange Market and Parity Conditions
1.
The foreign exchange market is referred to as a market where one country's currency is exchanged for another currency. The currency exchange is usually made through the following methods       .


A.
buyers and sellers of foreign exchange meet at a physical location.


B.
buyers and sellers of foreign exchange meet through a telephone network


C.
buyers and sellers of foreign exchange meet through computer communications


D.
A and B

*
E.
B and C

2.
Which of the following is not a function of a commercial bank in the foreign exchange market?


A.
they operate the payment mechanism

*
B.
they determine exchange rates


C.
they extend credit


D.
they help reduce foreign exchange risk


E.
they buy and sell foreign exchange

3.
Which of the following is not a characteristic of speculation       .


A.
profit motive


B.
exchange rate fluctuation

*
C.
hedging


D.
risk taking


E.
deliberate uncovered position

4.
A cross rate is an exchange rate between ___ and ___.


A.
The US dollar and the Japanese yen

*
B.
any two non-home currencies


C.
the Mexican peso and the euro


D.
the domestic currency and a foreign currency


E.
the euro and the Japanese yen

5.
A US company is expected to receive £100,000 in 120 days.  If the company wants to minimize the risk of foreign exchange, then it would       .


A.
buy British pounds forward

*
B.
sell British pounds forward


C.
buy British pounds 120 days from now


D.
sell British pounds 120 days from now


E.
sell British pounds in the current spot market

6.
Speculation in foreign exchange markets entails       .


A.
covering in the forward market


B.
covering in the money market


C.
hedging in the option market

*
D.
buying in the current spot market and selling in the future spot market


E.
covering in the futures market

7.
Foreign exchange markets are efficient if       .

*
A.
good information is available at no or little cost


B.
you have inside information


C.
markets are highly regulated


D.
market information is secretive


E.
most foreign exchange dealers are speculators

8.
The theory of purchasing power parity says that       .


A.
the inflation rates in two countries are unrelated

*
B.
the exchange rate will adjust to reflect changes in the price levels of two countries

C.
the inflation rate is greater than the interest rate


D.
the interest rate is greater than the inflation rate


E.
the interest rate and the inflation rate are identical

9.
The Fisher Effect assumes that the       .


A.
real interest rate is equal to the nominal interest rate

*
B.
nominal interest rate is equal to the real interest rate plus the inflation rate


C.
inflation rate is equal to the real interest rate


D.
nominal interest rate is equal to the inflation rate


E.
nominal interest rate is lower than the inflation rate

10.
The International Fisher Effect says that the        .


A.
exchange rate difference reflects the inflation rate difference between two countries

*
B.
future spot rate should move in an amount equal to, but in the opposite direction from, the difference in interest rates between two countries

C.
future spot rate reflects the forward rate


D.
interest rate is greater than the inflation rate


E.
all of the above

11.
The theory of interest rate parity means that the       .


A.
interest rates are equal in two countries

*
B.
difference between a forward rate and a spot rate equals the difference between a domestic interest rate and a foreign interest rate


C.
difference between the spot rate and the future spot rate reflects the interest rate difference between two countries

D.
future spot rate reflects the inflation difference between two countries


E.
all of the above

12.
A forward rate is equal to a future spot rate if foreign exchange markets are       .


A.
controlled by the government

*
B.
efficient


C.
controlled by speculators


D.
are partially controlled by the International Monetary Fund


E.
none of the above

13.
Actual exchange market participants include       .

A. banks

B. companies


C.
individuals


D.
governments

*
E.
all of the above

14.
Commercial banks play the flowing role in international transactions ___.

A.
they operate the payment mechanism

B.
they extend credit

C.
they help reduce risk

D.
A and B

*
E.
all of the above

15.
___ is used a major means of reducing risk in international transactions.

A.
exchange trading

B.
the payment mechanism

*
C.
letter of credit

D.
the US Federal Reserve

E.
bank trading rooms

16.
Central banks ___.

A.
attempt to control the growth of the money supply within their jurisdictions

B.
serve as their governments’ banker for domestic and international payments

C.
strive to maintain the value of their own currency against any foreign currency

D.
A and C

*
E.
all of the above 


17.
If the spot rate of the Malaysian ringgit is $.30 and the six month forward rate of the ringgit is $.32, what is the forward premium or discount on an annual basis?

A.
premium; about 14.5%

B.
discount; about 14.5%

*
C.
premium; about 13.3%
D.
discount; about 13.3%

E.
premium; about 16.7%
Solution: use Equation (5-4)

[(.32 - .30)/.30] x (360/180)  = 13.3%
18. 
If the spot rate of the Israel shekel is $.32 and the six month forward rate is $.30, what is the forward premium or discount on an annual basis?

A.
discount; 11.5%
B.
premium;  11.5%
C.
premium;  12.5%
*
D.
discount; 12.5%

E.
premium;  22.5%
Solution: use Equation (5-4)

[(.30 - .32)/.32] x (360/180) = -12.5%
19.
If the Canadian dollar is equal to $.86 and the Brazilian real is equal to $.28, what is the value of the Brazilian real in terms of Canadian dollars?

*
A.
about .3256 reals
B.
about .3568 reals
C.
about 1.2 reals
D.
about 1.5 reals

E.
about .5600 reals
Solution: cross rate

.28/.86 = .3256
20.
If the Japanese yen was worth $.0035 six months ago and is worth $.0045 today, how much has the yen appreciated or depreciated? 

*
A.
appreciated; about 29%
B.
appreciated; about 25%
C.
depreciated; about 20%
D.
depreciated; about 18%

E.
appreciated; about 15%
Solution: use Equation (5-1)

(.0045 - .0035)/.0035 = 29% 

21.
Assume: (1) the US annual interest rate = 10%; (2) the Malaysian annual interest rate = 4%; and (3) the 90-day forward rate for the Malaysian ringgit = $.3864. At what current spot rate will interest rate parity hold?

A.
$.3922
B.
$.3855
*
C.
$.3807
D.
$.3752

E.
$.6000
Solution: use Equation (5-8)

[(.3864 - S)/S) x (360/90)] = .10 - .04
                                        S = .3807
22. 
Suppose annual inflation rates in the US and Cambodia are expected to be 5% and 90%, respectively over the next year.  If the current spot rate for the Cambodian riel (KHR) is 3342.62 riels per dollar, then the best estimate of the riel's future spot rate one year from now is:

*
A.
$6053.27
B.
$6350.99
C.
$3342.62
D.
$6685.24

E.
$7800.00
Solution:  use Equation (5-6). Remember that the reciprocal of 3342.63 = 0.0002991. 

new exchange rate  =  $0.0002991[(1 + .05)/(1 + .90)]

                                 =  $.0001652/KHR; 

or KHR1/$.0001653  =  KHR6053.27/$
23.
If the expected inflation rate is 4% and the real required return is 5%, what is the nominal interest rate? 

A.
 1%
*
B.
 9%
C.
 6%
D.
 5%

E.
11%
Solution:
Use Equation (5-7): nominal rate = real rate + inflation rate.

Nominal rate = 5% + 4% = 9%
Use the following information to answer the next three questions.
Assume the following: you have $10,000 to invest; the current spot rate of British pounds is $1.800; the 90-day forward rate of the pound is $1.780; the annual interest rate in the US is 4%; the annual interest rate in the UK is 6%.

24.
Where would you invest your $10,000 to maximize your yield with no foreign exchange risk?

*
A.
in the United States


B.
in the United Kingdom


C.
cannot tell



D.
does not make any difference

E.
in Germany

Solution: invest in the US: $10,000 x 1.01 = $10,100

Invest in the UK and cover in the forward market.

Buy pounds at the present spot rate:

$10,000/1.8 = £5,555

invest in the UK:

£5,555 x 1.015 = £5,638

sell pounds forward: £5,638 x 1.78 = $10,036

The investor would earn $64 more by investing in the United States instead of the United Kingdom.
25.
Given the US interest rate, the UK interest rate, and the spot rate, what would be an equilibrium forward exchange quotation?


A.
1.800


B.
1.780

*
C.
1.809


D.
1.905


E.
2.000

Solution: use Equation (5-8) and solve for the forward rate:

[(F - 1.800)/1.800 x (360/90)] = 0.04 - 0.06

                                             F = £1.809
26.
Given the spot rate, the forward rate, and the US interest rate, what is the equilibrium UK interest rate?


A.
6.0%


B.
8.9%


C.
4.0%


D.
6.0%

*
E.
8.4%

Solution:  use Equation (5-8) and solve for the UK interest rate.

[(1.780 - 1.800)/1.800 x (360/90)] = 0.04 - if
                                                     if = 0.084

Use the following information to answer the next two questions:
Assume that the spot rate changed from $0.64 per Swiss franc on January 1 in one recent year to $0.68 per Swiss franc on December 31 of that year.

27.
What is the percentage change in the franc spot rate using direct quotes for a US company?

A.
5.55%

*
B.
6.25%

C.
7.55%

D.
8.00%

E.
9.99%

Solution:  Use Equation (5-1).

% Change = (0.68 - 0.64)/0.64 = 0.0625 or 6.25% 

28.
What is the percentage change in the franc spot rate using indirect quotes for a US company?

*
A.
6.25%

B.
7.77%

C.
8.88%

D.
9.45%

E.
5.55%

Solution:  Converting the above example into indirect quotations, the Swiss franc changes from 1.5625 francs to 1.4706 francs. Use Equation (5-2) to solve this problem.

% Change = (1.5625 - 1.4706)/1.4706 = 6.25%
29.
The bid price is $0.64 for the Canadian dollar and the ask price is $0.68 for the Canadian dollar. What is the bid-ask spread for the Canadian dollar?

A.
6.77%

B.
7.77%

C.
8.75%

*
D.
6.25%

E.
5.25%

Solution:  Use Equation (5-3).

Spread = (0.68 - 0.64)/0.64 = 0.0625 or 6.25%
Chapter 6

Currency Futures and Options

1.
The International Monetary Market in the Chicago Mercantile Exchange trades       .


A.
stocks


B.
bonds


C.
US Treasury Bills

*
D.
currency futures


E.
all of the above

2.
Differences between the futures market and the forward market include      . 

A.
price range

B.
maturity

C.
size of contract


D.
credit risk

*
E.
all of the above

3.
The buyer and the seller in currency future markets agree on       .


A.
a future delivery date


B.
the price to be paid


C.
the quantity of the currency

*
D.
all of the above


E.
none of the above

4.
The main objective of hedgers in currency futures markets is to       .


A.
make a profit

*
B.
protect against exchange risk


C.
make sure that foreign bills are collected


D.
protect against political risk


E.
none of the above

5.
Currency futures contracts are normally available       .

*
A.
in a pre-determined amount for a specified maturity date


B.
in flexible maturity dates


C.
tailored to the desire of the buyer


D.
tailored to the desire of the seller


E.
tailored to the desire of both the buyer and the seller

6.
The forward market of foreign exchange offers contracts     .

*
A.
tailored to meet the needs of the buyers and sellers


B.
which are normally standardized


C.
which have a standardized maturity date


D.
which are regulated by the Commodity Futures Commission


E.
which are available in a pre-determined amount

7.
Currency futures contracts are       .

*
A.
traded on organized exchanges


B.
actually settled for delivery


C.
backed by compensating balances


D.
handled by commercial banks


E.
handled by mutual savings banks

8.
The lifetime high and low figures in the currency futures quotation table mean       .


A.
the highest and lowest prices during the year


B.
the highest and lowest prices during the day

*
C.
the highest and lowest prices for each contract month during its life time


D.
the highest and lowest prices for each week


E.
none of the above

9.
The "open interest" in a currency futures quotation table refers to the       .


A.
total number of contracts traded

*
B.
total number of outstanding contracts which are not offset by opposing transactions


C.
total number of interested parties


D.
total number of contracts traded in a year


E.
none of the above

10.
Margin requirements in currency futures markets are a form of       .


A.
transaction cost

*
B.
collateral deposit


C.
brokerage fee


D.
compensation



E.
all of the above

11.
Speculators in currency futures markets are       .


A.
covered by options contracts


B.
covered by future contracts


C.
usually making profits

*
D.
greatly exposed to exchange rate risk


E.
always losing money

12.
The exchanges that trades currency options include ___.


A.
Philadelphia Stock Exchange


B.
Chicago Mercantile Exchange


C.
Chicago Board Options Exchange


D.
Singapore Stock Exchange

*
E.
all of the above

13.
A currency call option gives the       .

*
A.
buyer the right to buy the underlying currency


B.
seller the right to sell the underlying currency


C.
broker the right to buy the underlying currency


D.
seller the right to buy the currency futures contracts


E.
none of the above

14.
A currency put option gives the        the underlying currency.


A.
buyer the right to buy

*
B.
buyer the right to sell


C.
broker the right to sell


D.
seller the right to sell


E.
none of the above

15.
A strike price in currency options markets is the specified exchange rate at which the       .

*
A.
option can be exercised


B.
option can be bought


C.
option can be sold


D.
futures options can be sold


E.
none of the above

16.
A call option has an intrinsic value if the strike price is       .


A.
above the exchange rate of the underlying currency

*
B.
below the exchange rate of the underlying currency


C.
above the forward rate


D.
below the forward rate


E.
above the spot rate of the U.S. dollar

17.
A currency futures call option gives       .


A.
the buyer the obligation to buy a particular currency futures contract


B.
the seller the right to sell a particular currency futures contract


C.
the seller the obligation to sell a particular underlying currency

*
D.
the buyer the right to buy a particular currency futures contract


E.
none of the above

18.
A currency futures put option gives       .


A.
the buyer the obligation to sell a particular currency futures contract


B.
the seller the right to sell a particular currency futures contract


C.
the seller the right to sell an underlying currency


D.
both the seller and the buyer to sell a particular currency futures contract

*
E.
the buyer the right to sell a particular currency futures contract

19.
Option premiums consist of      .


A.
intrinsic value, time value, and current value

*
B.
intrinsic value, time value, and volatility


C.
current value, time value, and volatility


D.
time value, intrinsic value, and historical value


E.
all of the above

20.
Futures contracts of the following currencies are traded on the Chicago Mercantile Exchange except ____.


A.
British pound


B.
euro


C.
Japanese yen


D.
Swiss franc

*
E.
New Zealand dollar

21.
A long currency futures position means that an investor has the following situation       .


A.
a put option

*
B.
a call option


C.
a forward hedge


D.
a futures hedge


E.
none of the above

22.
Which of the following instruments is  a financial derivative?


A.
currency futures 


B.
currency forward


C.
 interest swap


D.
currency swap

*
E.
all of the above

23.
Organized exchanges trade the following futures instruments:       .


A.
currency futures of any maturity

*
B.
standardized currency futures


C.
currency futures of any size


D.
currency futures sold in any currency


E.
none of the above

24.
Currency futures contracts are acquired for the following purposes ___.


A.
hedging 


B.
speculation


C.
arbitrage


D.
hedging and speculation

*
E.
all of the above

25.
The major types of risk in derivatives trading are       .


A.
credit


B.
liquidity


C.
settlement


D.
market

*
E.
all of the above

26.
A multinational company wants to use a currency put option to hedge 10 million Singapore dollars in accounts receivable. The premium of the currency option with a strike price of $.55 US is $.05 US. If the option is exercised, what is the total amount of US dollars received after accounting for the premium payment?

*
A.
$5,000,000.

B.
$5,200,000.

C.
$5,500,000.

D.
$6,000,000.


E.
$9,000,000.

Solution:
total receipts    = Singapore dollars 10,000,000 x .55 =  $5,500,000

total premium  = Singapore dollars 10,000,000 x .05 =       500,000


net receipts       =                                                                 $5,000,000
27. 
The premium for a British put pound with an exercise price of $1.70 is $.05. What is the breakeven spot rate for the buyer of the put?

A.
$1.70.

*
B.
$1.65.

C.
$1.75.

D.
$1.60.


E.
$2.10.

Solution: breakeven point = $1.70 - $0.05 = $1.65
28. 
You purchase a call option on British pounds for a premium of $.04 per unit with an exercise price of $1.65. The option will not be exercised until the expiration date, if at all.  If the spot rate on the expiration date is $1.67, your net profit or net loss per unit is:

A.
$.04.

B.
$.02.

*
C.       -$.02.

D.       -$.04.


E.
$.50.

Solution:  Use Equation (6-2) :

profit or loss = $1.67 - ($1.65 + $.04) = -$.02
Use the following information to answer the next three questions:

On October 23, the closing exchange rate of British pounds was $1.80. Calls which would mature the following January with a strike price of $1.85 were traded at $0.10.

29.
The call options were         .


A.
in the money.


B.
at the money.

*
C.
out of the money.


D.
below the money.


E.
above the money.

Solution:
$1.80 - $1.85 = -$0.05
30.
What is the intrinsic value?

A.
-$.05.


B.
$.05.

*
C.
$.00.


D.
$.10.


E.
$.50.


Solution:  The mathematical value of the option is negative (-$0.05), but the intrinsic value is zero because it cannot be negative.
31.
If the exchange rate of British pounds rises to $2.00 prior to the January option expiration date, what is the percentage return on investment for an investor who purchased a call on October 23?


A.
40%


B.
45%

*
C.
50%


D.
55%


E.
70%

Solution: % return = ($2.00 - $1.85 - $0.10)/$0.10 = 50%

Chapter 7

Financial Swaps

1.
Financial swap markets have emerged in recent years because of the following reasons ___.

A.
exchange rates fluctuate widely


B.
interest rates fluctuate widely


C.
forward markets may not function properly


D.
currency futures are available only for selected currencies

*
E.
all of the above

2.
Financial swaps are used by the following organizations ___.

A.
multinational companies


B.
commercial banks


C.
world organizations


D.
sovereign governments

*
E.
all of the above

3.
The origins of the swap market are usually regarded as an outgrowth of the following financial instruments ___.

A.
parallel loans


B.
back-to-back loans


C.
commercial paper


D.
treasury bills

*
E.
A and B

4.
Typically, parallel loans involve the following parties     .


A.
two multinational firms


B.
three multinational firms


C.
two subsidiary firms


D.
five multinational firms

*
E. 
A and C

5.
A back-to-back loan usually involves        companies in      different countries.

*
A.
two,  two


B.
four, four


C.
three,  three


D.
A and B


E.
all of the above

6.
The shortcomings of parallel and back-to-back loans include     .


A.
difficulty of finding counterparties


B.
a non-compliance by one of the parties


C.
difficulty of finding exact matching needs


D.
A and B

*
E.
A, B, and C

7.
Currency swaps overcome the shortcomings of parallel and back-to-back loans because of       .

*
A.
specialized swap dealers and brokers


B.
their simplicity


C.
their cost effectiveness


D.
A and B


E. 
A, B, and C

8.
The first currency swap between the World Bank and IBM was arranged in 1981 by       .


A.
Citicorp


B.
BankAmerica

*
C.
Solomon Brothers


D.
Merrill Lynch


E.
none of the above

9.
A currency swap bank is usually       .


A.
an end user

*
B.
a financial intermediary


C.
a currency speculator


D.
A and B

E.
all of the above

10.
A currency swap broker is a swap bank who       .


A.
uses his or her own account in completing transactions

*
B.
is strictly an agent to take orders from her client


C.
a currency speculator


D.
A and B

E.
all of the above

11.
Interest rate swaps involve counterparties who want to        .

*
A.
exchange a floating rate commitment for a fixed rate loan


B.
exchange debt for stock


C.
exchange a short-term loan for a long-term loan


D.
A and B


E.
none of the above

12.
Currency swaps involve       .


A.
one currency

*
B.
two currencies


C.
foreign stocks


D.
B and C


E.
none of the above

13.
Call swaptions are attractive when interests are expected to       .

*
A.
fall


B.
rise


C.
stay the same


D.
A and B


E.
none of the above

14.
An interest rate floor in currency swaps sets       .


A.
a maximum rate on floating interest rate payments


B.
a maximum rate on fixed interest rate payments

*
C.
a minimum rate on floating interest rate payments


D.
a minimum rate on fixed interest rate payments


E.
none of the above

15.
The basic motivations for swaps include___. 


A.
to provide protection against future changes in exchange rates


B.
to eliminate interest rate risks arising from normal commercial operations


C.
to reduce financing costs


D.
A and B

*
E.
all of the above

16.
Mortgage companies may use interest rate swaps mainly because       .

*
A.
they have short-term liabilities and long-term assets


B.
they have long-term debt



C.
they have mortgage loans


D.
A and B

E.
none of the above

17.
Interest rate swaps are usually possible because international financial markets in different countries are       .


A.
efficient


B.
perfect

*
C.
imperfect


D.
A and B


E.
none of the above

18.
Currency swaps, as opposed to parallel and back-to-back loans, ___.

A.
are arranged by specialized swap dealers

B.
include the right of offset

C.
require principal values to be reflected in the participants’ books

*
D.
A and B

E.
all of the above

19.
Plain vanilla swaps ___.

A.
are the most basic form of swap

B.
involve two counterparties agreeing to make payments to each other on the basis of some quantity of underlying assets

C.
require two parties to exchange notional principals

*
D.
A and B

E.
all of the above

20.
Notional principals ___.

A.
may or may not be exchanged in plain vanilla swaps

B.
are used to calculate interest payments

C.
equal the value of underlying assets involved in swaps

D.
B and C

*
E.
all of the above

Use the following information to answer the next three questions:

Assume that you are a swap dealer and have just acted as a counterparty in an interest rate swap. The notional principal for the swap was $7.5 million and you are now obligated to make five annual payments of 8 percent interest. The floating rate that you will receive is 8.2 percent, and the floating payments to you are annual as well. 

21.
If interest rates do not change over the next five years, what will be your annual net inflow?

A.
$10,000

*
B.
$15,000

C.
$25,000

D.
$40,000

E.
$55,000

Solution:  $7,500,000 x (0.082 - 0.08) = $15,000.
22.
What is the net present value of your swap agreement at a discount rate of 8 percent?

A.
$10,000

B.
$25,993

C.
$55,883

*
D.
$59,895

E.
$60,666

Solution:  $15,000 x the annuity discount factor of $1 for 5 years at 8 percent = $15,000 x 3.993 = $59,895.

23.
If the floating rate stays the same for the first two years and then falls by 1.5 percent, what will be your net payments for the five years?

A.
 $ 75,000

B.
 $ 90,000

C.
 $100,000

D.
-$150,900

*
E.
-$262,500

Solution:  You will receive a total of $30,000 for the first two years [$7,500,000 x (0.082 - 0.080) x 2]. The new floating rate that you will receive: 8.2% - 1.5% = 6.7%. You will pay a total of $292,500 for the last three years [$7,500,000 x (0.067 - 0.08) x 3 years]. Thus, your net payment over the five years will be -$262,500 ($30,000 - $292,500).

Use the following information to answer the next five questions:

Two counterparties agree to enter a foreign currency swap between American dollars and Swiss francs. One dollar is currently worth 1.4 francs. The American dollar payor will provide $500,000. The interest rate on the dollar is 9 percent, and the Swiss franc rate is 8 percent. The swap calls for a life of three years with annual payments.

24.
How much will the provider of the dollar pay at the outset?

*
A.
SFr700,000

B.
SFr500,000

C.
SFr357,143

D.
SFr200,000

E.
SFr125,000

Solution:  $500,000 x SFr1.4 = SFr700,000.
25.
If the interest rates do not change, what is the annual dollar interest payment for the foreign borrower of dollars?

A.
$34,000

B.
$40,000

*
C.
$45,000

D.
$50,000

E.
$55,000

Solution:  $500,000 x 0.09 = $45,000.
26.
If a net payment is recorded for interest in year one and exchange rates do not change, what will be the net payment?

A.
$1,000

B.
$2,000

C.
$3,000

*
D.
$5,000

E.
$7,000

Solution:  $500,000 x (0.09 - 0.08) = $5,000.
27.
What will be the total payment in francs by the borrower of dollars for year 3?

*
A.
SFr756,000

B.
SFr500,000

C.
SFr400,000

D.
SFr350,000

E.
SFr 53,500


Solution:  SFr700,000 (1.08) = SFr756,000.
28.
What will be the total payment in dollars by the borrower of francs for year 3?

A.
$150,000

B.
$245,000

C.
$540,000

*
D.
$545,000

E.
$600,000


Solution:  $500,000 (1.09) = $545,000.

Chapter 8

Exchange Rate Forecasting
1.
Foreign exchange markets are efficient if       .


A.
there are many informed investors


B.
exchange rates reflect all available information

C.
there are no barriers of funds movement


D.
transaction costs are negligible

*
E.
all of the above

2.
In empirical studies on foreign exchange rate forecasting,        efficiency best describes the general consensus on market efficiency.


A.
strong-form


B.
semistrong-form

*
C.
weak-form


D.
semiweak-form


E.
all of the above

3.
A fundamental analysis in exchange rate forecasting involves the following except       .


A.
inflation rates


B.
interest rates


C.
national income growth

D.
money supply

*
E.
price trends

4.
A technical analysis in exchange rate forecasting involves the following except       .


A.
past price


B.
volume movements


C.
price charting

*
D.
political factors


E.
filter rule

5.
There are three kinds of efficient markets.  These are      .


A.
weak form efficient market


B.
semi-strong form efficient market


C.
strong form efficient market


D.
perfectly efficient form market

*
E. 
A, B, and C

6.
Three methods are widely used to forecast floating exchange rates. These three methods are       .


A.
technical analysis, fundamental analysis, and forward rates


B.
technical analysis, market-based forecasts, and spot rates


C.
fundamental analysis, market-based forecasts, and forward rates

*
D.
fundamental analysis, technical analysis, and market-based forecasts


E.
all of the above

7.
Dufey and Giddy suggested that currency forecasting can be consistently useful or profitable only if one of four conditions is met.  These conditions include the following ___. 

A.
the forecaster has exclusive use of a superior forecasting model


B.
the forecaster has consistent access to information before other investors

C.
the forecaster predicts the nature of government intervention in the foreign exchange market


D.
A and B

*
E.
A, B, and C

8.
If the forward rate is the best available predictor (unbiased) of future spot rates, the forward market is       .


A.
inefficient

*
B.
efficient


C.
semi-efficient


D.
B and C


E.
none of the above

9.
Forecasting needs of the multinational company include all of the following but      .

A.
hedging decision

B.
working capital management

C.
long-term investment analysis

D.
long-term financing decision

*
E.
speculation

10.
Two primary methods of technical analysis consist of      .

*
A.
charting and mechanical rules

B.
charting and forward rates

C.
mechanical rules and spot rates

D.
charting and the theory of purchasing power parity

E.
multiple regression analysis and spot rates

11.
Two major qualities of mechanical rules as compared with chartists are      .

A.
subjective judgement and objective skill

B.
consistency and superior judgement

C.
superior accuracy and subjective judgement

*
D.
consistency and discipline

E.
objective judgement and error-free results

12.
Filter rule is a rule that belongs to the following forecasting method.

A.
fundamental analysis

B.
market-based forecast

C.
econometrics model

D.
forward-rate forecasting model

*
E.
technical analysis

13.
Market-based forecasts consist of      .

A.
spot rate, forward rate, and inflation rate

B.
spot rate, forward rate, and exchange rate

*
C.
spot rate, forward rate, and interest rate

D.
spot rate, forward rate, and wage rate

E.
technical analysis and fundamental analysis

14.
The four-step sequence as a general forecasting procedure under a fixed rate system consists of      .

A.
assessing the balance of payments outlook

B.
measuring the magnitude of required adjustment

C.
timing of adjustment

D.
nature of adjustment

*
E.
all of the above

15.
There are at least three ways to determine the size of the change in the exchange rate required to bring the balance of payments back into equilibrium. Which of the following is one of the three ways to restore the balance-of-payments equilibrium?

A.
the theory of purchasing power parity

B.
forward exchange rate

C.
free market or black market rate

*
D.
all of the above 

E.
none of the above

16.
Whether a country will devalue its currency under a fixed rate system is ultimately a  __     decision.

A.
economic 

B.
momentary

*
C.
political 

D.
fiscal

E.
international

17.
In the case of a structural balance of payments deficit, policy makers attempt to implement a number of corrective policies, excluding      .

A.
tight monetary policy

B.
tight fiscal policy

C.
exchange controls

*
D.
higher government spending

E.
wage controls

18.
The flowing may be exposed to foreign exchange risks ___.

A.
credit purchases whose prices are stated in foreign currencies

B.
borrowed funds denominated in foreign currencies

C.
uncovered forward contracts

D.
A and B

*
E.
all of the above

19.
Working capital management involves all of the following except ___.

A.
short term financing decisions

B.
short-term investment decisions

*
C.
fixed assets

D.
interest rates
E.
selection of loan currencies

20.
A market-based forecast is ___.

A.
a currency forecasting technique that uses historical prices or trends

*
B.
a forecast based on market indicators such as forward rates

C.
a systematic effort at uncovering functional relationships between a set of independent variables and a dependent variable

D.
A and B

E. 
none of the above

Use the following information to answer the next two questions.

Assume that the Canadian dollar appreciates from US$0.65 at the beginning of the year to US$0.70 at the end of the year.  

21.
What is the percentage appreciation of the Canadian dollar?

A.
4.69%

B.
5.69%

C.
6.69%

*
D. 
7.69%

E. 
8.69%

Solution:  Use Equation (8-1):

Percentage Change = (0.70 - 0.65)/0.65 = 7.69%

22.
What is the percentage depreciation of the US dollar?

*
A.
-7.14%

B.
-6.00%

C.
-5.14%

D.
-8.88%

E.
-9.19*

Solution:
Use Equation (8-2):

Percentage Change = (0.65 - 0.70)/0.70 = -7.14%
Use the following information to answer the next three questions.

Suppose that the Swiss franc appreciates from US$0.40 at the beginning of the year to US$0.44 at the end of the year. The US inflation rate is 5 percent and the Swiss inflation rate is 3 percent during the year.

23.
What is the percentage appreciation of the Swiss franc?

A.
11.12%

B.
11.00%

*
C.
10.00%

D.
10.59%

E.
12.00%

Solution:  Use Equation (8-1):

Percentage Change = (0.44 - 0.40)/0.40 = 10%
24.
What will the dollar price of the Swiss franc be in one year?

A.
$0.4044

B.
$0.5044

C.
$0.6015

D.
$0.7055

*
E.
$0.4078

Solution:  Use Equation (8-3): 

Predicted Rate = $0.4 x [(1 + 0.05)/(1 + 0.03)]

                          = $0.4078
25.
What is the real depreciation (-) or real appreciation of the Swiss franc during the year?

A.
6.4%

B.
7.1%

*
C.
7.9*

D.
8.6%

E.
9.9%

Solution:  (0.4400 - 0.4078)/0.4078 = 7.9%
26.
The spot rate is US$0.50 per Australian dollar. The annual interest rates are 12 percent for the United States and 8 percent for Australia. If these interest rates remain constant, then what is the US dollar market forecast of the spot rate for the Australian dollar in five years?

A.
$4.669

B.
$4.999

*
C.
$5.997 

D.
$6.447

E.
$7.668

Solution:  Use Equation (8-5):

Predicted Rate = $0.50 x [(1 + 0.12)5/(1 + 0.08)5]

                                      = $0.5997
27.
A 20 peso percent return in Mexico is higher than a 7 percent dollar return in the United States.

A.
true

B.
false

C.
either true or false

D.
none of the above

*
E.
it depends on whether these are nominal or real returns.

Chapter 9

Managing Transaction Exposure and Economic Exposure
1.
Transaction exposure occurs if there is a change in an exchange rate and       .

*
A.
an outstanding obligation denominated in a foreign currency is settled


B.
sales are made in cash


C.
purchases are made in cash


D.
an outstanding obligation denominated in a home currency is settled


E.
all of the above

2.
If a foreign currency depreciates, exchange losses will occur when exposed       .

*
A.
receipts are greater than exposed payments


B.
payments are greater than exposed receipts


C.
receipts are greater than exposed net worth


D.
receipts and exposed payments are the same


E.
none of the above

3.
Economic exposure measures the impact of actual exchange conversion involving the following cases except       .


A.
cash flows from a foreign investment


B.
a foreign subsidiary borrows money in international financial markets


C.
a foreign subsidiary imports raw materials

*
D.
local wages go up


E.
none of the above

4.
A forward market hedge involves the following except       .


A.
a fixed amount of foreign currency


B.
forward rate


C.
forward contract

*
D.
future spot rate


E.
commercial banks

5.
A money-market hedge does not involve the following       .


A.
spot rate


B.
interest rate

*
C.
forward rate


D.
marketable securities


E.
accounts receivable

6.
An option-market hedge in foreign exchange risk management is a form of a(n)       .

*
A.
covered hedge


B.
open position


C.
balance sheet hedge


D.
swap


E.
speculation

7.
A currency swap involves the following       .


A.
spot market only


B.
forward market only

*
C.
spot and forward markets


D.
options and futures markets


E.
the New York Stock Exchange

8.
In the case of a credit swap, a parent company       .


A.
buys a foreign currency in the spot market and sells it in the forward market


B.
buys a foreign currency in a home market and sells it in a foreign market

*
C.
deposits a home currency at a home bank on behalf of a foreign bank and the foreign bank lends money in a foreign currency to the company's foreign subsidiary


D.
all of the above


E.
none of the above

9.
Interest rate swaps involve the following transaction       .

*
A.
exchange cash flows of a fixed interest rate for cash flows of a floating interest rate


B.
exchange cash flows of long-term debt with cash flows of short-term debt


C.
exchange cash flows of foreign currency debt with cash flows of home currency debt


D.
all of the above


E.
none of the above

10.
Back-to-back loans involve the following transaction       .

*
A.
equal loans are arranged by two multinational parent companies in two different countries


B.
equal loans are arranged by one bank in two different time periods


C.
equal loans are arranged by one multinational corporation in two different rates


D.
all of the above


E.
none of the above

11.
Economic exposure management does not involve the following       .


A.
diversified production


B.
diversified marketing


C.
diversified financing

*
D.
balance sheet hedge


E.
diversified operations

12.
The three types of foreign exchange exposures are       .


A.
precautionary, transaction, and speculative

*
B.
translation, economic, and transaction


C.
translation, precautionary, and political


D.
transaction, political, and devaluation


E.
transaction, political, and economic

13.
When a firm has dividends payable denominated in foreign currency, the firm is said to have       .


A.
economic exposure


B.
translation exposure

*
C.
transaction exposure


D.
tax exposure


E.
political exposure

14.
Foreign exchange risk ___.

A.
becomes less complicated when currencies are allowed to float

B.
does not exist when all currencies are fixed

*
C.
is the risk of loss due to changes in the international exchange value of national currencies

D.
decreases with the effects of globalization

E.
none of the above

15.
A cross-hedge ___.

A.
involves the use of forward contracts, a combination of spot and market and money market transactions, and other techniques to protect from foreign exchange loss
*
B.
is a technique designed to hedge exposure in one currency by the use of futures or other contracts on another currency that is correlated with the first currency

C.
involves an exchange of cash flows in two different currencies between two companies

D.
involves a loan contract and a source of funds to carry out that contract in order to hedge transaction exposure

E.
involves the exchange of one currency for another at a fixed rate on some future date to hedge transaction exposure

16.
Economic exposure management ___.

A.
is designed to neutralize the impact of unexpected exchange-rate changes on net cash flows

B.
can use the same techniques used to eliminate translation and transaction risks

C.
uses diversified operations and financing to reduce economic exposure

*
D.
A and C

E
all of the above

Use the following information to answer the next two questions:

XYZ Company has an account receivable of £10,000,000 from a British company to be paid in three months. The additional information is as follows:

British pound spot rate:

 $2.0290

British pound 3-month forward rate:   $2.0032

3-month interest rate in the US:
        2%

3-month interest rate in the UK:
        3%

17. 
What will be the approximate value of the account receivable in US dollars if the company makes a forward market hedge?

A.
$20,000,000
B.
$20,290,000
*
C.
$20,032,000
D.
$21,000,000

E.
$10,000,000
Solution: US dollar value = $2.0032 x £10,000,000 = $20,032,000
18.
What will be the approximate value of the accounts receivable in US dollars if the company makes a money-market hedge?

A.
about $20,051,000
*
B.
about $20,093,000
C.
about $20,151,000
D.
about $20,293,000

E.
about $30,000,000
Solution:
(1)  borrow £9,708,738 (10,000,000/1.03)



(2)  buy $19,699,030 in exchange for £9,708,739



(3)  invest $19,699,030 in the US at 2%



(4)  receive $20,093,010 ($19,699,031 x 1.02)
Use the following information to answer the next five questions:

A subsidiary in Israel requires the Israel shekel equivalent of $1 million at the current exchange rate of 4 shekels per dollar. To obtain 4 million shekels for the subsidiary in Israel, the parent must open a $1 million credit in favor of as Israeli bank. The Israeli bank charges the parent 10% per year on the 4 million shekels made available to the subsidiary and pays no interest on the $1 million that the parent has deposited in favor of the bank. The parent's opportunity cost on the $1 million deposit is 20%. Two financing alternatives are direct loan and credit swap.

19.
If the current exchange rate stays the same, which alternative is less expensive: direct loan or credit swap?

*
A.
direct loan

B.
credit swap

C.
both alternatives are equally expensive

D.
cannot tell

E.
depends on the government policy
Solution: Annual interest of the direct loan = 20%

Annual interest of the credit swap = 30%
20.
Which alternative is more attractive: direct loan or credit swap?


A.
direct loan

B.
credit swap

C.
equally attractive
*
D.
cannot tell

E.
depends on the government policy
Solution:  The direct loan is cheaper but subject to exchange risk; the credit swap is more expensive and has no exchange risk. Thus, one cannot tell for sure which alternative is more attractive.

21.
What is the exchange rate that will make the cost of the direct loan equal to the cost of the credit swap?


A.
Israel shekel 4.0 per $

*
B.
Israel shekel 4.4 per $


C.
Israel shekel 4.8 per $


D.
Israel shekel 5.5 per $


E.
Israel shekel 9.0 per $
Solution: Direct Loan Cost                   Credit Swap Cost
200,000y + (1,000,000y - 4,000,000) = 200,000y + 400,000

                                                         y = 4.4

22.
A multinational company believes that the exchange rate at the maturity date of the loan is 5 Israel shekels per dollar. If the company's prediction proves correct, which alternative is cheaper?


A.
direct loan
*
B.
credit swap

C.
equally expensive

D.
cannot tell

E.
all of the above
Solution:

Direct loan cost = (200,000 x 5) +[(1,000,000 x 5) - 4,000,000] = 2,000,000 Israel shekels
Credit swap cost = 200,000 x 5 + 400,000 = 1,400,000 Israel shekels
23.
If market analysts predict that the exchange rate will be 5 Israel shekels per dollar at the maturity of the loan, which alternative would rational decision-makers recommend?


A.
direct loan for sure
*
B.
credit swap for sure

C.
cannot tell

D.
all of the above

E.
none of the above
Solution:  The credit swap is better because it is cheaper and has no exchange risk.

Chapter 10

Translation Exposure Management

1.
Translation exposure means that       .


A.
a firm incurs actual losses in foreign exchange markets


B.
currency conversion takes place in foreign exchange market


C.
a firm makes actual profits in foreign exchange markets


D.
a firm covers its foreign exchange risk in the forward markets

*
E.
a firm experiences an accounting impact of exchange rate changes

2.
Net translation exposure means       .


A.
the difference between exposed operating expenses and fixed assets


B.
the difference between exposed assets and accounts receivable

*
C.
the difference between exposed assets and exposed liabilities


D.
the difference between exposed revenues and exposed expenses


E.
none of the above

3. 
The current/non-current method of currency translation will not affect       .


A.
cash


B.
accounts receivable


C.
accounts payable


D.
notes payable

*
E.
long-term debt

4. 
The monetary/non-monetary method of currency translation will not affect       .


A.
cash


B.
accounts receivable

*
C.
inventory


D.
marketable securities


E.
accounts payable

5. 
The temporal method of currency translation is almost similar to the monetary/non-monetary method except the following item       .


A.
accounts receivables at historical cost


B.
accounts receivables at market price


C.
inventory at historical cost

*
D.
inventory at market price


E.
fixed assets at market price

6. 
FASB No. 8 is the same as the following translation method       .


A.
current/non-current method


B.
monetary/non-monetary method

*
C.
temporal method


D.
current rate method


E.
exchange rate method

7.
FASB No. 52 shows exchange gains or losses in the following       .


A.
quarterly income statement


B.
annual income statement

*
C.
stockholders' equity account


D.
the sources and uses of funds statement


E.
none of the above

8.
The functional currency is defined as the currency of the environment in which the entity primarily generates and expends cash, and usually refers to the        currency.


A.
parent

*
B.
local


C.
reporting


D.
recording


E.
home

9.
The US dollar is the functional currency for ___.

A.
those foreign operations whose cash flows directly affect the parent’s US dollar cash flows

B.
foreign entities that are merely an extension of the parent company

C.
foreign subsidiaries in countries with runaway inflation

D.
foreign subsidiaries in countries with inflation of 100% over three years

*
E.
all of the above

10.
When an MNC has several subsidiaries, a variety of funds adjustment techniques can be used to reduce its translation loss. These techniques include the following basic strategies _____.
*
A.
decrease soft-currency assets, increase soft-currency liabilities

B.
increase soft-currency assets, increase soft-currency liabilities

C.
decrease hard-currency assets, decrease soft-currency liabilities

D.
decrease hard-currency assets, increase hard-currency liabilities

E.
none of the above

11.
The following statement does not apply to transfer prices _____.

A.
they are prices of goods and services sold between related parties

B.
they are prices of goods and services sold between parents and subsidiaries
C.
they are usually the subject of government policing mechanisms

*
D.
they cannot be manipulated by importers

E.
they are frequently different from arm’s length prices

12.
Translation exposure ___.

A.
is sometimes called accounting exposure

B.
measures the affect of an exchange rate change on published financial statement of a firm

C.
refers to the potential change in the value of outstanding obligations due to changes in the exchange rate between the inception of a contract and the settlement of the contract

*
D.
A and B

E.
A and C

13.
Translation exposure affects a company’s ___.

A.
ability to raise capital
B.
earnings per share

C.
stock price

D.
key financial ratios

*
E.
all of the above

14.
Translation exposure ___.

A.
measures the affect of an exchange rate change on published financial statement of a firm

B.
does not involve actual cash flows

C.
does not present any financial risk to a firm

*
D.
A and B

E.
all of the above

15.
Which of the following items is not related to a balance sheet hedge in translation exposure management?


A.
reduce the levels of local currency


B.
tighten credit


C.
delay the collection of hard currency receivables


D.
increase hard-currency assets

*
E.
options market hedge

Use the following information to answer the next three questions:

ABC Company's Canadian subsidiary has the following balance sheet.
Cash and receivables C$  800 
Payables              C$  900

Inventory                          900 
Long-Term Debt        500

Fixed assets                      700 
Net Worth               1,000
Total assets               C$2,400 
Total claims        C$2,400

Suppose the Canadian dollar depreciates from US$1.00 to US$.80 during the period.

16.
Under the monetary/non-monetary method, what is ABC's translation gain or loss?

*
A.
+ $120
B.
- $120
C.
+ $200
D.
- $200
E.
+ $900
Solution: net exposure = C$1,400 - C$800 = C$600

                   gain or loss = $.20 x C$600 = $120

17.
Under the current/non-current method, what is ABC's translation gain or loss?

A.
+ $160
*
B.
- $160
C.
+ $220
D.
- $220

E.
+ $700
Solution: net exposure = C$900 - C$1,700 = -C$800

                   gain or loss = $.20 x (-C$800)   =    -$160

18. 
Under the current rate method, what is ABC's translation gain or loss?

A.
+ $200
*
B.
- $200
C.
+ $250
D.
- $250

E.
+ $650
Solution: net exposure = C$1,400 - C$2,400 = -C$1,000

                   gain or loss = $.20 x (-C$1,000)   =    -$200

Chapter 11
International Financial Markets

1.
The Eurocurrency market consists of banks which accept deposits and make loans in foreign currencies       .

*
A.
outside the country of issue


B.
inside the country of issue


C.
in the home country


D.
in Europe only


E.
none of the above

2.
Eurodollars are US dollars deposited in       .


A.
New York


B.
Chicago

*
C.
London


D.
San Francisco


E.
Detroit

3.
Eurodollars can be created in       .


A.
Europe


B.
Asia


C.
Latin America


D.
Africa

*
E.
all of the above

4.
Eurodollar deposits could expand indefinitely if       .


A.
public and private depositors always keep their money in non-U.S. banks


B.
banks always keep their money in non-U.S. banks


C.
banks are able to find public and private borrowers in Eurodollars

*
D.
all of the above


E.
none of the above

5.
The Bank for International Settlement is a bank in       that facilitates transactions among central banks.


A.
the United States

*
B.
Switzerland


C.
Canada


D.
Germany


E.
Japan

6.
The Eurodollar market is probably the most efficient because there are no       .


A.
reserve requirements


B.
interest ceilings on deposits


C.
FDIC (Federal Deposit Insurance Corporation) fees

*
D.
all of the above


E.
none of the above

7.
If the U.S. government imposes additional taxes on interest paid on US bank deposits, the likely effect of this regulation is to       .

*
A.
expand the Eurodollar market


B.
reduce the Eurodollar market


C.
have no impact on the size of the Eurodollar market


D.
increase U.S. bank deposits


E.
none of the above

8.
Recent movement toward a highly integrated global financial system has caused bankers to develop three Cs of central banking. These three Cs are      .


A.
consultation, cooperation, and common sense


B.
coordination, cooperation, and conditions


C.
consultation, cooperation, and conditions

*
D.
consultation, cooperation, and coordination

E.
none of the above
9.
Euronote issue facilities consist of      .

*
A.
Euronotes, Eurocommecial paper, and Euro-medium-term notes


B
Euronotes, commercial paper, and Eurobonds



C.
Eurocommercial paper, Euronotes, and Eurostocks


D.
Eurocommercial paper, Euronotes, and Eurobonds


E.
none of the above

10.
Interest rates on Eurodollar deposits are normally        than those on US deposits.


A.
lower


B.
same

*
C.
higher


D.
cannot tell


E
none of the above

11.
Interest rates on Eurodollar loans are normally        than those on US loans.

*
A.
lower


B.
same


C.
higher


D.
cannot tell


E.
all of the above

12.
Eurobonds are long-term obligations denominated in        outside the country of issue.

A. Swiss franc

B. US dollars


C.
Japanese yen


D.
British pounds

*
E.
all of the above

13.
The main characteristics of straight bonds do not include       .


A.
a fixed interest rate


B.
a fixed maturity


C.
unsecured debentures

*
D.
no interest payment until maturity


E.
none of the above

14.
The interest rate on floating rate bonds is usually adjusted every       .


A.
three months

*
B.
six months


C.
nine months


D.
twelve months


E.
two years

15.
The main characteristics of zero-coupon bonds do not include       .


A.
interest payment made at maturity


B.
principal payment made at maturity


C.
sales at a deep discount

*
D.
discounted interest


E.
no periodic interest to pay.

16.
The        has the largest market share of the international bond market.

*
A.
US dollar

B.
Japanese yen


C.
German mark


D.
British pound



E.
French franc

17.
Which of the following does not contribute to the efficiency of the Eurodollar market?


A.
the US government imposes no restrictions on non-resident transactions


B.
foreign entities are free to transact with US banks


C.
European banks offer competitive rates for Eurodollar deposits and loans


D.
no reserve requirements for Eurodollar time deposits

*
E.
none of the above

18.
Which of the following is related to the Eurodollar market?


A.
KIBOR

*
B.
LIBOR


C.
SIBOR


D.
MIBOR


E.
none of the above

19.
Which of the following does not contribute to the development of the Asian currency market in Singapore?


A.
Asian dollar deposits


B.
an increase in banking activities in Asia

*
C.
political instability in Asia


D.
an increase in trade in Asia


E.
none of the above


20.
Interest rates on Eurodollar deposits may be higher than the rates on deposits in the US because       .


A.
Eurobanks are more efficient


B.
Eurodollar deposits are not required to pay FDIC fees


C.
Eurobanks are free of reserve requirements


D.
A and B

*
E.
A, B, and C

21.
The Bank for International Settlements recommends that globally active banks maintain capital equal to at least ___ percent of their assets.        

A.
10


B.
 9

*
C.
 8


D.
 7


E.
 6

22.
The popularity Euronotes in comparison with Euro Commercial paper is       .


A.
larger

*
B.
smaller


C.
equal


D.
A and C


E.
B and C

23.
The international capital market consists of the following        .


A.
international bond market


B.
international stock market


C.
Eurocurrency market



D.
Euro commercial paper market

*
E.
A and B

24.
Global bonds are bonds sold       .


A.
inside the country in whose currency they are denominated


B.
outside the country in whose currency they are denominated

*
C.
inside as well as outside the country in whose currency they are denominated


D.
A and B


E.
A, B, and C

25.
The holder of currency option bonds are allowed to receive their interest payments in the currency of their option among       .


A.
ten predetermined currencies


B.
five predetermined currencies

*
C.
two or three predetermined currencies


D.
A and B

E.
A, B, and C

26.
Currency cocktail bonds are issued to minimize       .


A.
interest rate risk

*
B.
foreign exchange rate risk


C.
sovereign risk


D.
default risk


E.
all of the above

27.
Governments privatize state-owned companies to       .


A.
assist the development of capital markets


B.
raise money


C.
widen share ownership


D.
replace public-sector decision-making


*
E.
all of the above

28.
Traditionally, US banks have faced all of the following prohibitions on equity-related activities except for _____.

A.
banks cannot own stock for their own account

B.
banks cannot make a market in equity securities

*
C.
banks cannot participate in interstate banking

D.
banks cannot actively vote shares held in trust for their banking clients

E.
banks cannot engage in investment banking activities

29.
By crosslisting its shares on foreign exchanges, an MNC hopes to accomplish all but the following ______.
*
A.
avoid security regulations of all countries where their shares are listed

B.
allow foreign investors to buy their shares in their home market

C.
provide another market to support a new issuance

D.
compensate local management and employees in the foreign affiliates
E.
establish a presence in an additional country

Chapter 12
International Banking Issues and Country Risk Analysis

1.
The foreign bank representative office       .


A.
accepts deposits

*
B.
obtains local market information


C.
makes loans


D.
issues letters of credit


E.
trades Eurodollars

2.
The foreign correspondent bank is a form of       .


A.
branch banking


B.
subsidiary bank

*
C.
informal banking relationship


D.
consortium banking


E.
none of the above

3.
Which of the following is not a major characteristic of the foreign banking subsidiary?


A.
its own charter


B.
its own board of directors


C.
its own stockholders

*
D.
all banking officers from the parent bank


E.
none of the above

4.
The Clearing House Interbank Payments System (CHIPS)       .


A.
accepts international deposits


B.
makes international loans


C.
clears foreign exchange transactions

*
D.
moves dollars between New York offices of financial institutions


E.
moves foreign currencies between New York and Hong Kong

5.
The Clearing House Payments Assistance System (CHPAS)       .


A.
accepts international deposits


B.
makes international loans


C.
clears foreign exchange transactions

*
D.
moves funds between London offices of most financial institutions which handle foreign exchange trades


E.
all of the above

6.
An international syndicated loan is made by a group of       .

*
A.
banks from different countries


B.
corporations from different countries


C.
countries


D.
US banks


E.
Japanese banks

7.
A country risk analysis does not include       .


A.
political risk


B.
economic risk


C.
objective criteria

*
D.
company financial analysis


E.
none of the above

8.
The World Bank classifies the debt burden of developing countries according to a set of        _____ ratios.


A.
five


B.
four


C.
three


D.
seven

*
E.
two

9.
Country risk rankings can be found in the following journal ___. 


A.
IMF Staff Papers

*
B.
Euromoney


C.
the Journal of International Business Studies


D.
Multinational Business Review


E.
Journal of Finance

10.
Two financial service firms        and       assign letter ratings to indicate the quality of sovereign-government bonds.


A.
Dow Jones Company and Moody's Investor Service


B.
Standard & Poor's and Dow Jones Company


C.
Citibank and Moody's Investor Service


D.
J.P. Morgan and Citibank

*
E.
Moody's Investor Service and Standard & Poor's

11.
The international debt crisis of the 1980s started when the following countries could not make international debt payments       .


A.
Mexico, Brazil, and Taiwan

*
B.
Brazil, Mexico, and Argentina


C.
Argentina, Brazil, and Korea


D.
Taiwan, Korea, and Mexico


E.
all of the above

12.
The Asian financial crisis of 1997 started in        .


A.
Korea

*
B.
Thailand


C.
Malaysia


D.
Indonesia


E.
Philippines

13.
The causes of the Asian financial crisis fall into one of two theories __ .


A.
the fundamental view and the pessimistic view


B.
the pessimistic view and the panic view


C.
the panic view and the optimistic view


D.
the pessimistic view and the optimistic view

*
E.
the fundamental view and the panic view

14.
A country risk analysis involves the following assessment       .


A.
political risk


B.
economic risk


C.
legal risk

*
D.
both A and B


E.
A, B, and C

15.
To solve the Asian financial crisis of 1997, crisis countries took the following actions      .


A.
closed many ailing banks


B.
cleaned up non-performorming loans


C.
encouraged surviving banks to merge with other banks

*
D.
all of the above


E.
none of the above

16.
A consortium bank _____ .

A.
does not have its own charter
*
B.
is a permanent group of banks that handle large international loans

C.
is usually owned by shareholder banks from the same country

D.
is an information arrangement in which a bank in a country maintains deposit balances with banks in foreign countries and looks to them for services and assistance

E.
has little contact with its parent banks

17.
The Society for Worldwide Interbank Financial Telecommunications (SWIFT) ____.

A.
does not include Asian and Latin American banks
B.
has vastly increased the multiplicity of formats used by banks in different parts of the world
*
C.
represents a common denominator in the international payment system and uses the latest communication technology

D.
causes banks to execute international payments more expensively
E.
is infrequently used
18.
Lenders, borrowers, the International Monetary Fund, and the World Bank worked together to overcome the debt crisis of the 1980s by all of the following but ____ .
A.
rescheduling debt

B.
refinancing debt

C.
providing additional loans

*
D.
creating broad economic policies

E.
all of the above

19.
All of the following statements apply to Brady bonds except ____ .

A.
they are guaranteed by US Treasury bonds purchased by debtor countries

B.
they are highly marketable

C.
they are largely credited with solving the decade-long global debt crisis of the 1980s

D.
originated from the Brady Plan, named after US Treasury Secretary Nicholas Brady

*
E.
maintain the original debt maturity of the debtor country 
20.
The panic view theory of the cause of the Asian Financial Crisis of 1997 supports all of the following statements but ____ .
A.
the Asian crisis was not caused by problems with economic fundamentals

B.
there were no visible warning signs of the impending crisis

C.
a swift change in expectations was the catalyst for the crisis

D.
the crisis was caused by international investors’ irrational behavior

*
E.
the IMF’s fiscal and monetary  policies after the crisis greatly assisted in containing the spread of the crisis

Chapter 13
Financing Foreign Trade

1.
Which of the following is not a document involved in foreign trade?


A.
bill of lading

*
B.
commercial paper


C.
letter of credit


D.
draft


E.
insurance document

2.
Which of the following condition(s) must a draft meet in order for it to be negotiable?


A.
contain an unconditional promise or order to pay


B.
must be in writing and signed by the drawer


C.
payable on sight or at a specified time


D.
made out to order or to bearer

*
E.
all of the above

3.
A draft or a bill of exchange in international trade financing is an order to pay written by ___.


A.
an importer.


B.
am importer's bank


C.
an exporter's bank

*
D.
an exporter


E.
an importer's insurance company

4.
When trade drafts are accepted by a bank, they become       .


A.
bills of lading

*
B.
bankers' acceptances


C.
letters of credit


D.
time drafts


E.
commercial paper

5.
The types of drafts include       .


A.
a sight draft


B.
a time draft


C.
a documentary draft


D.
documents against payment

*
E.
all of the above

6.
A bill of lading is not a       .

A.
shipping document

B.
receipt

C.
contract

*
D.
letter of credit

E.
document involved in the physical movement of the merchandise by a common carrier

7.
A letter of credit is issued by       .


A.
an importer


B.
an exporter

*
C.
a bank


D.
a government


E.
the International Monetary Fund

8.
The advantages of letters of credit do not include       .


A.
a bank's promise to pay


B.
importers can receive merchandise sooner


C.
exporters can receive money sooner

*
D.
banks are responsible for the quality of goods


E.
the importer can obtain better terms

9.
A revocable letter of credit can be revoked at any time by a(n)       .


A.
importer


B.
exporter

*
C.
bank


D.
government


E.
all of the above

10.
Which of the following is not a form of letter of credit?


A.
unconfirmed letter of credit


B.
revolving letter of credit


C.
non-revolving letter of credit


D.
confirmed letter of credit

*
E.
free letter of credit

11.
Other documents which generally accompany the draft as specified in the letter of credit include a(n)       .


A.
commercial invoice


B.
insurance document


C.
consular invoice


D.
certificate of origin
*
E.
all of the above

12.
Forms of countertrade include the following except ___.


A.
simple barter


B.
clearing arrangement


C.
switch trade


D.
counterpurchase

*
E.
mutual agreement

13.
Switch trading is a form of countertrade.  When two trading countries experience a trade imbalance, the imbalance is       .

*
A.
balanced by a purchase agreement involving a third party


B.
financed by a creditor country who lends money to a debtor country


C.
financed by a bank


D.
financed by the World Bank


E.
none of the above

14.
A counterpurchase involves a return purchase of goods by a seller from       .

*
A.
the buyer


B.
a third party


C.
a broker


D.
a bank


E.
a government

15.
A buy-back agreement is an agreement by the seller to receive a portion of payment in products produced by       .

*
A.
the buyer


B.
a third party company


C.
a third party country


D.
a bank


E.
the US government

16.
If a trade is done on open account,       .


A.
the importer pays in cash


B.
the importer borrows from a bank


C.
the importer signs a formal debt instrument

*
D.
the importer purchases with a specified credit term


E.
a bank finances the trade

17.
The Export Trading Company Act was passed by the US Congress in 1982 to achieve the following objectives except       .


A.
help small and medium-sized firms export their products


B.
allow US banks to invest in commercial enterprises for export purposes

C.
permit US companies to form a partnership for export purposes without fear of antitrust ramifications

*
D.
purchase a company’s accounts receivables on a non-recourse basis

E.
enable export-trading companies to buy products and export these products

18.
An offset agreement is frequently called      .

*
A.
direct offset


B.
indirect offset


C.
compensation agreement


D.
counterpurchase


E.
switch trader

19.
A forfaiting arrangement in international trade financing normally does not require       .


A.
a large discount


B.
long term financing


C.
a bank

*
D.
a recourse privilege


E.
foreign trade

20.
Which of the following items is not related to the US Export-Import Bank?


A.
an independent agency of the US government


B.
the promotion of US exports


C.
commercial bank-loan guarantees


D.
insurance offerings to US exporters

*
E.
mobilizes private capital
21.
The Private Export Funding Corporation (PEFCO) was created in 1970 at the initiation of the Bankers’ Association for Foreign Trade with the support of the following organizations except       .

*
A.
the United Nations


B.
the US Treasury Department


C.
the US Ex-Im Bank


D.
both B and C


E.
large US banks

22.
The Foreign Credit Insurance Association (FCIA) did not provide the following type of insurance       .


A.
failure of importer


B.
expropriation


C.
revolution

*
D.
foreign exchange risk


E.
civil war

23.
Documentation in foreign trade is meant to ___.

A.
assure that the exporter will receive the payment and the importer will receive the merchandise

B.
reduce noncompletion risk

C.
reduce foreign exchange risk

D.
finance trade transactions

*
E.
all of the above

24.
Noncompletion risk ___.

A.
is greater in foreign trade than in domestic trade

B.
causes exporters to want to keep merchandise until they are paid

C.
can be reduced through the use of foreign trade documents

D.
A and B

*
E.
all of the above

25.
Which of the following is not a type of bill of lading?

A.
straight

*
B.
documentary

C.
on-board

D.
clean

E.
foul

26.
A consular invoice ___.

A.
is issued by the consulate of the importing country

B.
is necessary to obtain customs clearance

C.
evidences title to the shipped goods

*
D.
A and B

E.
all of the above

27.
Countertrade ___.

A.
refers to world trade arrangements that are variations on the idea of barter

B.
is difficult to measure in volume due to secrecy

C.
is falling in popularity and importance

*
D.
A and B

E.
all of the above

28.
What is the cost of not taking cash discount for the following term: 3/10, net 100? Assume 360 days a year.

A.
12.00%

*
B.
12.37%

C.
14.55%

D.
16.00%

E.
20.00%

Solution: Use Equation (13-1). 3/(100 - 3) x 360/90 = 12.37%.
29.
For the following import purchase, calculate the annual cost of the cash discount forgone, and determine the date and amount paid if the discount is taken: $100, 4/10, net 30. Assume that the invoice date is March 20 and that there are 30 days in a month.

a.
75%, $960, March 30

b.
55%, $960, April 10

*
c.
75%, $960, March 30

d.
55%, $860, March 20

e.
75%, $860, March 30


Solution:
4/(100 - 4) x 360/20 = 75%; $1,000 (1 - 0.04) = $960; and March 20 + 10 = March 30.

Use the following information to answer the next two questions:

A multinational company has factored its accounts receivable of $20,000 due in one month. The factor advances 75 percent of the receivables, charges 1.5 percent per month, and 2 percent commission. Both the interest and the commission are paid on a discount basis.

30.
What are the net proceeds available to the company?

a.
$15,000.00

b.
$14,700.00

c.
$14,550.50

d.
$14,550.25

*
e.
$14,381.00

Solution:
Face value 


$20,000

Less: 25% reserve due from factor

    5,000

2% commission



       400
Funds available for advance

$14,600

Less: 1.5% interest on advance

       219
Net proceeds from advance


$14,381

31.
What is the effective annual cost of factoring the accounts receivable?

a.
45.99%

b.
35.66%

c.
29.00%

*
d.
21.06%

e.
15.50%

Solution: [$400 + ($219 x 12)]/$14,381 = 21.06%.

Chapter 14
Financing Foreign Investment

1.
Internal sources of funds available for foreign investment do not include       .


A.
the parent equity contributions


B.
the parent direct loans


C.
funds provided by operations from retained earnings

D.
intersubsidiary fund transfers
*
E.
commercial bank loans

2.
Many multinational companies are reluctant to make large equity investments in their foreign subsidiaries because       .


A.
dividends to foreign shareholders are normally subject to local income taxes


B.
dividends to foreign shareholders are usually subject to withholding taxes


C.
dividends to foreign shareholders are usually subject to foreign exchange risk

D.
an equity investment is not very flexible for the investor
*
E.
all of the above

3.
Parent loans to foreign subsidiaries are usually more popular than equity contributions because       .

*
A.
parent loans give a parent company greater flexibility in repatriating funds


B.
interest payments on intracompany loans are not tax deductible in the host country


C.
intracompany loans require cumbersome paperwork


D.
intracompany loans carry high interest rates


E.
none of the above

4.
When a foreign subsidiary has difficulty in borrowing money, a parent may provide its subsidiary a loan guarantee through the following form(s)       .

A.
the parent may sign a purchase agreement to buy its subsidiary's promissory note from the lender


B.
the parent may guarantee a specific loan agreement


C.
the parent may guarantee all loans to the subsidiary

*
D.
all of the above


E.
none of the above

5.
Many foreign subsidiaries in developing countries are not always free to remit their earnings in hard currency mainly because       .

*
A.
many developing countries do not have sufficient international reserves


B.
foreign subsidiaries want to retain earnings for current operations


C.
foreign subsidiaries do not want to repatriate earnings to their parent


D.
subsidiary managers want to maximize their own cash flows


E.
the parent company wants its subsidiaries to have financial stability

6.
Loans from sister subsidiaries are considered to be       .

*
A.
an internal source of funding


B.
an external source of funding


C.
an external source of borrowing


D.
a form of cash dividends


E.
none of the above

7.
External sources of funds for the multinational company include       .


A.
joint ventures with local investors


B.
borrowing from banks in the parent country


C.
bank loans from the host country


D.
loans from the host government

*
E.
all of the above

8.
Bank overdrafts in international financing have the following feature(s)       .

*
A.
the customer can write checks beyond deposits


B.
they provide a letter of credit


C.
the bank cannot charge interest


D.
these loans must be repaid within two days


E.
these loans are not allowed in most industrialized countries

9.
Most multinational firms prefer unsecured loans because       .


A.
they can receive large sums of funding


B.
they do not have collateral


*
C.
bookkeeping costs of secured loans are high


D.
their interest rate is low


E.
they require large compensating balances

10.
Bridge loans are short-term renewal loans because       .

*
A.
they are repaid when the permanent financing is arranged


B.
they are rolled over again for short-term purposes


C.
they are not related to long-term loans


D.
they have low interest rates


E.
their maturity is less than one year

11.
Arbi loans are a form of       .


A.
money market hedge


B.
foreign exchange arbitrage

*
C.
currency swap


D.
options market hedge


E.
speculation

12.
Edge Act Corporations are not allowed to do the following banking activity       .


A.
international banking


B.
international financing


C.
financing foreign industrial projects

*
D.
accept domestic deposits


E.
accept foreign deposits

13.
The privileges of International Banking Facilities (IBFs) do not include       .

*
A.
exemption from the Federal income tax


B.
freedom from reserve requirements


C.
exemption from some state income taxes

D.
allowance of bank offices in the United States to accept time deposits in either dollars or foreign currency from foreign customers


E.
B, C, and D

14.
International Banking Facilities (IBFs) allow bank offices in the United States to       .


A.
accept time deposits from foreign customers


B.
accept foreign currency deposits from foreign customers


C.
extend credit to foreigners

*
D.
all of the above


E.
none of the above

15.
Which of the following is not a major advantage of forming a joint venture from a multinational firm's point of view?


A.
tax benefits


B.
local marketing expertise


C.
more capital

D.
less political risk

*
E.
tight control

16.
The main emphasis of the World Bank is in the following area       .


A.
short-term commercial loans


B.
short-term government loans

*
C.
loans for long-term social infrastructures


D.
loan guarantees for member countries


E.
investment in former communist countries

17.
The International Financial Corporation (IFC) is a sister institution of the World Bank and is responsible for making the following type(s) of loans       .


A.
government projects

*
B.
industrial projects


C.
individual projects


D.
educational facilities


E.
none of the above

18.
The International Development Association (IDA) was established in 1960 as an affiliate of the World Bank Group and its credit terms are generally extended for        years.


A.
25


B.
30

*
C.
50


D.
less than 11


E.
7

19.
Which of the following banks is not a regional development bank?


A.
Inter-American Development Bank


B.
European Bank for Reconstruction and Development


C.
Asian Development Bank


D.
African Development Bank

*
E.
the Bank of Japan

20.
The Agency for International Development (AID) is an agency of one of the following US government agencies       .


A.
the US Commerce Department


B.
the US Treasury Department

*
C.
the US State Department


D.
the US Justice Department


E.
the US Education Department

21.
The Overseas Private Investment Corporation (OPIC) was established in 1969 and handles the following type(s) of work       .

*
A.
guarantees political and commercial risks


B.
investment in Latin America


C.
political lobbying


D.
investment in Russia


E.
all of the above

22.
The Inter-American Development Bank includes the following countries       .


A.
Canada, the United States, and Mexico


B.
Brazil, Mexico, and Argentina

*
C.
the United States and 19 Latin American countries


D.
A and B


E.
none of the above

23.
The European Bank for Reconstruction and Development was established in 1990 as a development bank for the following region       .


A.
Western Europe

*
B.
emerging democracies in Eastern Europe


C.
the NATO countries


D.
A and B


E.
A, B, and C

24.
The European Investment Bank was established in 1958 by the member countries of the European Community to support the following activities       .


A.
to make loans to the member governments

*
B.
to support the socio-economic infrastructures of the member nations or their basic industries


C.
to make loans to European banks


D.
A and B


E.
A, B, and C

25.
The Asian Development Bank was formed in 1966 by 17 Asian countries in partnership with the following countries       .


A.
the United States


B.
Canada


C.
Great Britain


D.
Germany

*
E.
all of the above

26.
Global partnerships and alliances have flourished in recent years because of the following reasons       .


A.
reduce high development costs


B.
reduce production costs


C.
reduce critical time to market


D.
maximize ownership and technology control

*
E.
A, B, and C

27.
Project finance has been used to finance a variety of infrastructure projects except ___.


            A.
airports

*
B.
high schools


C.
bridges


D.
highways


E.
power generation projects

28.
Some major forms of strategic alliances are        .


A.
licensing agreements


B.
marketing arrangements


C.
joint ventures


D.
management contracts

*
E.
all of the above

29.
Project finance refers to an arrangement where a project sponsor finances a      -term project on a       basis.


A.
short; non-recourse

*
B.
long; non-recourse


C.
long; recourse


D.
short; recourse


E.
none of the above

30.
The principal instruments used by banks to service an MNC’s request for a loan are all of the following but ___.

*
A.
letter of credit

B.
overdraft

C.
bridge loans

D.
currency swaps

E.
link financing

31.
All of the following are known types of joint ventures except ___.

A.
two companies from the same country conduct a business in a third country

B.
an MNC forms a joint venture with host-country companies

C.
an MNC and a local government form a joint venture

D.
companies from two or more countries establish a venture in a third country

*
E.
all of the above are known types of joint ventures

32.
A firm borrows $20,000 at 12 percent. What is the effective rate of interest if the loan is discounted?

A.
12.00%

B.
12.12%

*
C.
13.64%

D.
13.99%

E.
14.00%

Solution:  Dollar interest cost = $20,000 x 0.12 = $2,400.

Effective interest rate = $2,400/($20,000  - $2,400) = 13.64%.

33.
A firm borrows $20,000 at 10 percent. What is the effective rate of interest if the principal and its interest are paid at maturity?

A.
11.11%

B.
11.00%

C.
10.50%

*
D.
10.00%

E.
 9.45%

Solution:  Dollar interest cost = $20,000 x 0.10 = $2,000.

Effective rate of interest = $2,000/$20,000 = 10%.

34.
What is the effective interest rate on a $10,000 loan at 12 percent interest rate if the bank requires a 20-percent compensating balance and a payment of the interest at maturity?

*
A.
15%

B.
14%

C.
13%

D.
12%

E.
11%

Solution:  12/(100 - 20) = 15%.
35.
What is the effective interest rate on a $10,000 loan at 12 percent interest rate if the bank requires a 20-percent compensating balance and an advance payment of the interest?

A.
12.55%

B.
13.55%

C.
15.65%

D.
16.65%

*
E.
17.65%

Solution:  12/(100 - 20 - 12) = 17.65%.
36.
A US company borrows Swiss francs for one year at 8 percent. The Swiss franc is expected to depreciate by 6 percent against the dollar for one year. What is the effective interest rate of the loan in US dollar terms?

A.
1.00%

*
B.
1.52%

C.
2.00%

D.
2.50%

E.
3.11%

Solution:  Use Equation (14-1). 

r = [(1 + 0.08)(1 + (-0.06) - 1] = 1.52%.

37.
A US company borrows British pounds for one year at 6 percent. The US one-year interest rate is 8 percent. The one-year forward rate of the pound is $1.93. The spot rate of the pound at the beginning is $1.95. The pound's spot rate is $2.05 by the end of the year. Based on the information, compute the percentage change in pound and the effective interest rate of the loan in US dollar terms.

A.
5.1%, 10.0%

B.
6.1%, 11.4%

*
C.
5.1%, 11.4%

D.
7.0%, 12.0%

E.
8.0%, 12.5%

Solution:  Percentage change in pound = ($2.05 - $1.95)/$1.95 = 5.1%.

Effective interest rate = (1 + 0.06) (1 + 0.051) - 1 = 11.4%.

38.
The one-year US interest rate is 10 percent, and the one-year Italian interest rate is 13 percent. If a US company invests its funds in Italy, by what percentage would the euro have to depreciate to make its effective interest rate the same as the US interest rate from the US company's perspective?

A.
-10.55%

B.
- 6.50%

C. 
- 4.65%

*
D.
- 2.65%

E.
- 1.00%

Solution:

Use Equation (14-1).

0.10 = (1 + 0.13)(1 + ie) - 1; solve the equation for ie (percentage depreciation).

ie = (1 + 0.10/(1 + 0.13) - 1 = -2.65%.

39.
A US investor has $5 million in excess cash that it has invested in Chile at an annual interest rate of 60 percent. The US interest rate is 9 percent. By how much would the Chilean peso have to depreciate to cause such a strategy to backfire?

A.
-10.55%

B.
-20.00%

*
C.
-31.88%

D.
-35.00%

E.
-42.50%

Solution:

Use Equation (14-1).

0.09 = (1 + 0.60)(1 + ie) - 1; solve the equation for ie (percentage depreciation).

ie = (1 + 0.09)/(1 + 0.60) - 1 = -31.88%.

Chapter 15
International Working Capital Management

1.
The ability to relocate working cash balances and profits on a global basis provides multinational firms with several types of arbitrage opportunities. These types of arbitrage opportunities do not include        arbitrage.


A.
tax


B.
financial market


C.
regulatory system

*
D.
commodity market


E.
both A and B

2.
Fund flows from parent to subsidiary do not include       .


A.
the initial investment from the parent


B.
intracompany loans from the parent


C.
the purchase of goods from the parent


D.
added investments from the parent
*
E.
the transfer of employees from the parent

3.
Which of the following is not a major component of fund flows from subsidiary to parent?


A.
dividend payments from subsidiary


B.
interest payments from subsidiary


C.
royalty payments from subsidiary


D.
payments for goods received from the parent

*
E.
tax payments from subsidiary

4.
An advantage of multilateral netting by a multinational corporation and its foreign affiliates is that it       .

*
A.
reduces the total volume of interaffiliate fund flows


B.
increases the total volume of interaffiliate fund flows


C.
increases foreign exchange risk


D.
increases political risk


E.
reduces the number of employees

5.
Leads and lags are a form of working capital management by       .

*
A.
accelerating hard-currency payables payments and delaying soft-currency payables payments


B.
delaying accounts receivable payments and speeding up accounts payable payments


C.
accelerating both receivables and payables payments


D.
accelerating soft-currency payables payments and accelerating hard-currency payables payments


E.
all of the above

6.
According to the transfer pricing regulations, multinational firms are supposed to charge prices to its foreign affiliates based on the following:


A.
total cost

*
B.
arm's-length prices


C.
average cost


D.
internal prices


E.
none of the above

7.
Some multinational companies set up a re-invoicing center which normally       .


A.
invoices in the same currency for the buyer and seller of goods and services

*
B.
buys in one currency and pays in another currency


C.
buys in the parent currency and pays in the parent currency


D.
buys in gold and pays in the US dollar


E.
all of the above

8.
Intracompany loans do not include the following transaction(s)       .


A.
direct loans


B.
credit swaps


C.
paralell loans


D.
both B and C

*
E.
investment credit

9.
Credit swaps do not include the following party       .


A.
the parent company


B.
the foreign company


C.
a bank

*
D.
a foreign government


E.
both A and B

10.
Multinational firms may be able to repatriate funds from foreign affiliates through the following method(s)       .


A.
royalty payments


B.
management fees


C.
dividend payments


D.
adjustment of transfer prices

*
E.
all of the above

11.
Which of the following is not related to the traditional objectives of multinational firms' cash management?


A.
to minimize the cost of funds


B.
to improve liquidity


C.
to improve the return on investment


D.
to reduce risks

*
E.
to pay the same amount of dividend year after year

12.
Centralized international cash management requires each local subsidiary to       .


A.
do whatever it wants with its excess cash

*
B.
hold the minimum cash balance


C.
invest in foreign exchange markets


D.
invest in local capital markets


E.
invest in long-term securities

13.
The most important factor affecting the location of international cash centers is probably ___.
*
A.
the local government's political stability and its attitude toward foreign-based companies


B.
having enough cash balances at the local subsidiary


C.
exchange rate volatility


D.
the local government's ability to export oil


E.
all of the above

14.
Major categories of a float do not include the following ___ .


A.
invoicing float

*
B.
credit float


C.
mail float


D.
processing float


E.
transit float

15.
The "just-in-time" inventory management was initiated by       .


A.
the United States


B.
Germany

*
C.
Japan


D.
the United Kingdom


E.
Korea

16.
A 1996 study by Ricci and Morrison found that 80 percent of Fortune 200 companies use wire transfers      , 50 percent pool their cash       , and almost half net payments and transfer funds electronically      . 


A.
sometimes; sometimes; sometimes

*
B.
often; often; often. 


C.
often; sometimes; rarely. 


D.
rarely; rarely; rarely.


E.
often; often; rarely.

17.
Transfer pricing has been used by multinational firms to achieve the following objectives:


A.
minimize income taxes


B.
minimize tariff payments


C.
minimize foreign exchange controls


D.
operate working capital effectively

*
E.
all of the above

18.
Re-invoicing centers are set up in tax haven countries to do the following       .


A.
charge higher prices


B.
meet different accounting standards

*
C.
bypass government restrictions and/or avoid taxes


D.
A and B


E.
A, B, and C

19.
Multinational companies frequently unbundle remittances into separate flow categories in order to       .

*
A.
avoid taxes


B.
minimize the size of profit repatriation


C.
meet the accounting standards


D.
A and B


E.
A, B, and C

20.
Which of the following is not a popular cash center location.


A.
Luxembourg


B.
The Netherlands


C.
Bermuda

*
D.
Chile


E.
the Bahamas

21.
Intracompany loans do not include       .


A.
direct loans


B.
credit swaps


C.
back to back loans


D.
loans under parent guarantees

*
E.
loans from the World Bank

22.
In international cash management, which of the following items is most important?


A.
interest rate differential between two countries


B.
inflation differential between two countries

*
C.
interest rate and foreign exchange rate comparisons between two countries


D.
A and B


E.
A, B, and C

23.
Which of the following is not one of the ways that a multinational company can delay its payments?


A.
mail

*
B.
electronic fund transfers


C.
more frequent requisitions


D.
floats


E.
none of the above

24.
Net working capital includes ___.
A.
accounts receivable

B.
accounts payable

C.
inventory

D.
A and B

*
E.
all of the above

25.
Economic constraints of an MNC’s current asset management include all of the following but ___.

A.
foreign exchange constraints

*
B.
arbitrage constraints
C.
regulatory constraints

D.
tax constraints

E.
all of the above are constraints

26.
The principal goal of speeding the collection process is to ___.
A.
reduce floats

B.
minimize the investment in accounts receivable

C.
reduce banking and transaction fees

D.
B and C

*
E.
all of the above

27.
A US company has $10,000 in cash available for 45 days. It can earn 1 percent on 45-day investment in the United States. Alternatively, if it converts the US dollars to Singapore dollars, it can earn 1.5 percent on a Singapore deposit for 45 days. The spot rate of the Singapore dollar is US$0.50. The spot rate 45 days from now is expected to be US$0.40. Should this company invest its cash in the United States or in Singapore?

*
A.
in the United States

B.
in Singapore
C.
it does not make any difference

D.
all of the above

E.
none of the above

Solution:

US investment earns 1 percent.

Percentage change in Singapore dollar= ($0.40 - $0.50)/$0.50 = -20%. 

Singapore investment loses 18.8 percent: [(1 + 0.015)(1 + (-0.20)] - 1 = -18.8%. 

28.
A Canadian investor has Canadian $100,000 to invest for one year. US Treasury bills offer a yield of 11 percent. The current exchange rate of the Canadian dollar is US$0.50. What is the yield on the investment if the exchange rate of the Canadian dollar is US$0.46 at the end of the year?

A.
10.25%

B.
12.55%

C.
15.00%

*
D.
20.65%

E.
25.00%

Solution:

Convert Canadian $100,000 to US$50,000 at $0.50 rate.

Invest US$50,000 in the US at 11 percent.

($50,000 x 1.11 = $55,500)

Reconvert US dollars to Canadian dollars.

($55,500/$0.46 = Canadian $120,652)

Yield = (Canadian $120,652 – Canadian $100,000)/Canadian $100,000 = 20.65%.

Chapter 16
International Portfolio Investment

1.
International portfolio diversification, compared to a purely domestic portfolio diversification, in general will       .


A.
increase risk

*
B.
decrease risk


C.
have the same amount of risk


D.
all of the above


E.
cannot tell

2.
       is not a major cause of systematic (undiversifiable) risk.


A.
a worldwide recession


B.
a world war


C.
world energy supply


D.
both A and B

*
E.
company management change

3.
       is/are not a major cause of unsystematic (diversifiable) risk.


A.
wildcat strikes


B.
new competitors


C.
new product management

*
D.
worldwide inflation


E.
both B and C

4.
       is not a major component of the capital asset pricing model.


A.
an expected rate of return on a security


B.
the riskless rate of return


C.
the market rate of return


D.
systematic risk

*
E.
the historical price of the stock

5.
A correlation coefficient in portfolio management measures        .

*
A.
the degree of correlation between two or more securities

B.
the degree of variance


C.
the degree of past relationship


D.
the degree of certainty


E.
all of the above

6.
Assume that the expected returns of the five portfolios are the same but their standard deviations are as follows.  Which of these five portfolios is most risky?


A.
1.5%


B.
2.0%


C.
2.5%


D.
3.0%

*
E.
4.0%

7.
Which of the following statements gives the best description of international portfolio?

*
A.
stock market returns have lower positive correlations across countries than within a country


B.
stock market returns have higher positive correlations across countries than within a country


C.
stock market returns are supposed to have zero correlations across countries


D.
stock market returns have lower negative correlations across countries than within a country


E.
stock market returns have independent correlations across countries

8.
According to an empirical study by Solnick, an efficient international portfolio cuts the systematic risk of an efficient US portfolio by more than       %.


A.
 25

*
B.
 50


C.
 75


D.
100


E.
130

9.
Aggressive stocks are those stocks that have betas ___.

*          A.
greater than 1


B.
smaller than 1


C.
equal to 1


D.
can not tell


E.
greater than 1 but small than 2.

10.
A portfolio that incurs the smallest risk for a given level of return is called ___.
          A.
the efficient frontier


B.
the optimal portfolio


C.
the market portfolio


D.
the international portfolio

*
E.
the efficient portfolio

11.
Methods of international diversification do not include the following ___.


A.
international mutual funds

*
B.
purchases of US government securities for US investors


C.
American depository receipts


D.
hedge funds


E.
direct purchases of foreign securities

12.
According to an empirical study by Levy and Lerman, which of the following portfolios performed best?


A.
US portfolio of stocks and bonds


B.
internationally diversified portfolio of bonds


C.
internationally diversified portfolio of stocks

*
D.
internationally diversified portfolio of stocks and bonds


E.
German portfolio of stocks and bonds

13.
According to a study by Levy and Lerman, an investment in US bonds compared to internationally diversified bond portfolios is       .


A.
more efficient

*
B.
less efficient


C.
about the same


D.
cannot tell


E.
relatively efficient

14.
According to a study by Levy and Lerman, an investment in US stocks compared to internationally diversified stock portfolios is       .


A.
more efficient

*
B.
less efficient


C.
about the same


D.
highly efficient


E.
none of the above

15.
The capital asset pricing  model (CAPM) assumes that       .


A.
the undiversifiable risk of a security could be diversified if certain financial parameters are present


B.
risks are worth taking as long as they can be diversified


C.
the total risk of a security can be partially diversified if certain financial parameters are present


D.
the total risk of a security can be totally diversified if certain financial parameters are present

*
E.
the total risk of a security consists of systematic and unsystematic risks

16.
The equation known as the security market line consists of the       .


A.
commercial rate of interest and systematic risk


B.
commercial rate of interest and a risk premium

*
C.
riskless rate of interest and a risk premium


D.
nominal rate of interest and a risk premium


E.
national average rate of interest and a risk premium

17.
A correlation coefficient of zero means that the two sets of returns for two securities are _____.

A.
correlated or dependent on each other


B.
correlated or independent of each other


C.
uncorrelated or dependent on each other

*
D.
uncorrelated or independent of each other


E.
none of the above

18.
Because the degree of correlation among securities depends on economic factors, most pairs of domestic securities have a correlation coefficient       .

*
A.
between 0 and 1.0


B.
between 0 and -1.0


C.
greater than +1.0


D.
between 0 and 2.0


E.
equal to 0

19.
One way to measure the benefits of international diversification is to compare the       .


A.
expected return for a portfolio of US and foreign portfolios


B.
standard deviation of return for a portfolio of US and foreign portfolios


C.
expected return and standard deviation of return for a portfolio of foreign countries


D.
expected return of portfolios in industrial countries

*
E.
expected return and standard deviation of return for a portfolio of US and foreign securities combined vs. US securities alone

20.
Which of the following statements about international investment correlation is not true?

A.
stock market returns have lower positive correlations across countries than within a country

B.
member countries of the European Union have relatively high correlations

*
C.
the US and Japan have a high correlation

D.
both B and C are not true

E.
all of the above are not true

21.
A study by Morgan Stanley found that American investors could enjoy higher returns and less risk if they held a portfolio that contained up to ___ percent investment in foreign stocks.

A.
20%


B.
30%


C.
40%

*
D.
50%


E.
60%

22.
The expected rate of return on a market portfolio is 15 percent. The riskless rate of interest is 7 percent. The beta of a company is 1.4. What is the required rate of return on this company's common equity?

*
A
18.2%.


B.
22.0%.


C.
25.6%.


D.
31.9%.


E.
55.6%.

Solution:  use Equation (16-2):

R = .07 + (.15 - .07)1.4 = 18.2%
23.
At present, the riskless rate of return is 5 percent and the expected rate of return on the market portfolio is 11 percent. The expected return for a common stock is 20 percent and the stock's beta is 1.2. This particular common stock is:

*
A.
undervalued

B.
overvalued

C.
fairly valued

D.
cannot tell

E.
none of the above
Solution:  use Equation (16-2):

R = .05 + (.11 - .05)1.2 = 12.2% < 20%
24.
A portfolio manager has decided to invest a total of $2 million on US and Japanese portfolios. The expected returns are 12 percent on the US portfolio and 20 percent on the Japanese portfolio. What is the expected return of an international portfolio with 40 percent invested in the US portfolio and 60 percent invested in the Japanese portfolio?


A.
32.0%

*
B.
16.8%


C.
15.0%


D.
12.7%


E.
10.0%

Solution:  use Equation (16-4):

Rp = (.4)(.12) + (.6)(.20) = 16.8%.

25.
Kenneth Shad has decided to invest a total of $200,000 on US and French portfolios. The expected returns are 20 percent on the French portfolio and 17 percent on an international portfolio. The international portfolio consists of 60 percent invested in the US portfolio and 40 percent invested in the French portfolio. What is the expected return on the US portfolio?

A.
11%

B.
12%

C.
13%

D.
14%

*
E.
15%

Solution:  use Equation (16-4):

0.17 = (0.60)(Rus) + (0.40)(0.20).

Rus = 15%.

26.
Assume that the per-share prices of a common stock are $40, $50, and $60 for three days. Calculate the average price, the standard deviation, and the coefficient of variation for the stock.

*
A.
$50, $10, 0.20

B.
$50, $10, 0.30

C.
$40, $20, 0.40

D.
$60, $20, 0.50

E.
$40, $50, 0.20

Solution:  Average price = (40 + 50 + 60)/3 = $50.

Use Equation (16-1) for the standard deviation:

Standard deviation = {[(40 - 50)2 + (50 - 50)2 + (60 - 50)2]/(3 - 1)}½ = $10.

The coefficient of variation = 10/50 = 0.20.

Chapter 17
Corporate Strategy and Foreign Direct Investment
1.
The United States Department of Commerce defines foreign direct investment as investment in either real capital assets or financial assets with a minimum of       % equity ownership in a foreign firm.

*
A.
10

B.
20

C.
30

D.
50

E.
60

2.
Which of the following is not an oligopoly-created advantage of foreign direct investment for investing companies?

A.
proprietary technology

B.
management know-how

C.
access to scarce raw materials

*
D.
political advantage

E.
financial economies of scale
3.
Which of the following is not directly related to benefits of foreign direct investment to host countries?

A.
foreign investment induces the transfer of technology

B.
foreign investment increases national employment

C.
foreign investment contributes to tax revenues

D.
foreign investment provides local workers with an opportunity to learn managerial skills

*
E.
foreign investment creates jobs for foreigners

4.
Which of the following is not part of the argument against foreign investment for host countries?

A.
foreign investment brings about the loss of political and economic sovereignty

B.
foreign investment exploits local natural resources

C.
foreign investment undermines local indigenous cultures

*
D.
foreign investment lowers local wages

E.
foreign investment controls key industries and export markets

5.
Which of the following is not an advantage of foreign licensing arrangement over foreign investment?

A.
licensing requires a relatively small amount of investment

B.
licensing has relatively lower risk


C.
companies obtain an opportunity to penetrate foreign markets.


*
D.
licensing may create a possible competitor

E.
licensing is an easy way to circumvent foreign government restrictions

6.
Modes of foreign direct investments do not include the following       .

A.
construction of new plants abroad

*
B.
exports
C.
mergers and acquisitions of foreign firms

D.
international joint ventures

E.
international equity alliances

7.
Construction of new plants abroad requires demand forecast. Such a demand forecast  does not depend on the following ___.

*
A.
political system

B.
competition


C.
income

D.
population

E.
economic conditions

8.
Ferdows classifies benefits of foreign direct investment into two categories:        and       .

*
A.
tangible and intangible

B.
tax and intangible

C.
better customer-service and tangible

D.
technology and intangible

E.
lower cost and higher tax

9.
Total private flows to developing countries grew more than  ___ fold between 1992 and 1999. 

A.
eight

B.
nine 

*
C.
ten

D.
eleven

E.
twelve

10.       Which of the following statements is false?


            A.
a merger is a transaction that combines two companies into one new company
B.
an acquisition is the purchase of one firm by another firm
*          C
a tender offer is an offer to sell a certain number of shares
D.
Keiretsu is a Japanese word that stands for financially linked groups of firms
E.
a tender offer is usually associated with a hostile takeover 

11.
The use of the purchase-of-assets method in case of a merger creates ___.

*
A.
goodwill

B.
actual profits

C.
additional expenses

D.
additional sales

E.
additional market share

12.
Newman said that a growth-oriented company can globally close four types of growth gaps between its sales potential and its current actual performance. These gaps do not include ___.

A.
a product-line gap

B.
a distribution gap

*
C.
a local gap

D.
a usage gap

E.
a competitive gap

13.
A merger can affect all of the following except ___.        

A.
earnings before taxes

*
B.
employee health care 

C.
taxes

D.
capitalization rate

E.
debt capacity

14.
The appropriate mix of debt and equity ___ the overall cost of capital.

A.
increases
*
B.
reduces
C.
does not change

D.
causes a variety in
E.
A and B

15.
In general, international mergers and acquisitions tend to decrease risk and increase earnings capabilities by the following factors except       .

A.
international tax advantage

B.
lowering capitalization rate

C.
increasing debt capacity

*
D.
increasing overhead

E.
increasing earnings before taxes

16.
The market-based system of corporate governance is primarily used in ___.

A.
South Africa

*
B.
the United States

C.
Japan

D.
Mexico

E.
China

17.
The bank-based system of corporate governance is primarily used in ___.

*
A.
Japan

B.
the United States

C. the United Kingdom

D. Korea

E.
Portland

18.
Host countries can benefit from foreign direct investment because it       .

A.
contributes to tax revenues and helps balance their international balance of payments

B.
provides local workers with an opportunity to learn managerial skills

C.
induces the transfer of technology and skills which are frequently in short supply

D.
increases both national employment and wages

*
E.
all of the above

19.
Decisions on capital expenditures involve the allocation and commitment of funds to investment projects ___.
A.
whose returns are expected to extend beyond one year

B.
which usually require very large sums of money
C.
made in expectation of benefits over an extended period

D.
which are not readily reversible once they are made

*
E.
all of the above

20.
The benefits of mergers and acquisitions over construction of new plants include all of the following but ___.
A.
faster penetration of foreign markets

*
B.
the foreign operations can be tailored to exact needs

C.
quicker elimination of competitors

D.
allows for the purchase of only part of a firm

E.
the building of factories may take years to complete 

21.
An equity alliance is ___.

*
A.
where one company takes an equity position in another company


B.
a venture that is owned by two or more firms

C.
an agreement where an MNC allows a foreign company to produce its products in a foreign country in exchange for compensation
D.
an agreement where an MNC allows a foreign company to sell products or services under a brand name
E.
occurs when MNCs contract with a foreign manufacturer to produce products for them according to their specifications

22.
The decline in FDI flows in 2002 was almost entirely due to the decline in flows to Latin America and the Caribbean.  This decline was due to ___.

A.
the regional recession undermined investment incentives 

B.
fewer large mergers and acquisitions

C.
the process of privatization had moved towards completion

*
D.
all of the above

E.
none of the above

23.
Obstacles to improving a country’s investment climate include ____.

A.
bad roads

B.
primitive port facilities

C.
lack of local capital

D.
lack of qualified local technicians

*
E.
all of the above

24.
Mergers are often more difficult to evaluate than purchases because ___.

A.
the financial manager must carefully define benefits

B.
the financial manager must analyze who gains from the merger

C.
special tax and legal issues must be addressed

D.
special accounting issues must be addressed

*
E.
all of the above

25.
A US firm is considering the acquisition of a Mexican company for $2 million. The cost of capital for the US firm is 10 percent. The Mexican company has expected cash flows of $90,000 per year. The synergistic benefits of the merger will add $30,000 per year to net cash flow. What is the present value of net cash flows from this merger?

A.
$1,500,000

B.
$1,400,000

C.
$1,300,000

*
D.
$1,200,000

E.
$  750,000

Solution: Present value = $90,000 + $30,000 = $1,200,000.

26.
A Canadian company has a total of $450,000 in tax loss carryforwards. To use these losses and to diversify its operations, a US company has acquired the Canadian company through a merger. The US company expects to have earnings before taxes of $300,000 per year. Assume: the US company is in the 40-percent tax bracket and all the losses can be carried forward. How much tax can the US company reduce through this merger?

*
A.
$180,000

B.
$250,000

C.
$300,000

D.
$450,000

E.
$500,000

Solution: Reduction in tax = the loss involved multiplied by the tax rate:

$450,000 x 0.40 = $180,000.

27.
Assume that the debt ratio is 60 percent, the cost of debt is 6 percent, the cost of equity is 10 percent, the tax rate is 50 percent, and annual earnings after taxes are $10,000 for a multinational company. What are the company's weighted average cost of capital and its market value?

A.
5.8%, $150,000

*
B.
5.8%, $172,414

C.
6.2%, $172,414

D.
6.9%, $190,214

E.
7.7%, $200,000

Solution:  Weighted average cost of capital = 0.60 x 0.06(1 - 0.50) + 0.40 x 0.10 = 0.058.

Market value = $10,000/0.058 = $172,414.

28.
Assume that a company with a tax rate of 40 percent has acquired a firm with $5 million book value for $12 million. The acquiring company is located in a country where goodwill write-offs are deductible for tax purposes. The goodwill can be written off for a maximum of ten years. What is the amount of tax savings that the acquiring company can realize for ten years?

A.
$2.1 million

B.
$2.5 million

*
C.
$2.8 million

D.
$3.5 million

E.
$4.8 million

Solution:  Goodwill = market value - book value 

                                  = $12 million - $5 million = $7 million.

Tax savings = goodwill x tax rate

                     = $7 million x 0.40 = $2.8 million.

Chapter 18
International Capital Budgeting Decisions
1.
Which of the following is not directly related to the cash flow analysis of a foreign investment project?

A.
foreign royalty payments

B.
foreign taxes

C.
foreign exchange rate changes

*
D.
management changes

E.
demand forecast

2.
In a foreign investment analysis, which of the following objectives is most important and relevant?

A.
to maximize the project cash flows

*
B.
to maximize the parent cash flows

C.
to maximize the project earnings

D.
to maximize the overall parent earnings

E.
to maximize the subsidiary cash flows

3.
Which of the following capital budgeting techniques is considered to be superior to other methods?

A.
the average rate of return

B.
the payback method

*
C.
the net present value method


D.
the rule-of-thumb method
E.
both A and D

4.
Many multinational companies use the risk-adjusted discounted rate and increase the discount rate if a project’s risk is       .

A.
lower than normal risk

B.
the same as normal risk

*
C.
greater than normal risk

D.
cannot tell

E.
all of the above

5.
In a foreign investment analysis, the certainty-equivalent approach adjusts for risk in the following variable       .

A.
the cost of capital

*
B.
cash flow

C.
inflation rate

D.
interest rate

E.
unemployment rate

6.
The last three phases of a foreign investment analysis are:

*
A.
implementation, control, and post audit

B.
implementation, control, and the publication of annual financial reports

C.
implementation, post audit, and planning

D.
control, post audit, and planning

E.
control, search for projects, and planning

7.
The portfolio theory relies on the following variable(s)       .

A.
risk

B.
project maturity

C.
project return

*
D.
both A and C

E.
both B and C

8.
When net present value and internal rate of return produce different answers, net present value is better because:

A.
the net present value is easier to compute than the internal rate of return

B.
the primary goal of a firm is to maximize the value of the firm, which coincides with the net present value approach

C.
the internal rate of return assumes a constant reinvestment rate

D.
a single project may have more than one internal rate of return

*
E.
all of  the above

9.
Portfolio theory deals with the selection of investment projects that would. 

A.
maximize profit

B.
minimize risk

C.
maximize the rate of return for a given level of risk 

D.
minimize risk for a given level of return

*
E.
C and D

Use the following information to answer the next three questions:

A foreign investment project with an initial cost of $15,000 is expected to produce net cash flows of $8,000, $9,000, $10,000, and $11,000 for each of the next four years. The firm's cost of capital is 12 percent, but the international financial manager perceives the risk of this particular project is much higher than 12 percent. The international financial manager feels that a 20 percent discount rate would be appropriate for the project.

10.
What is the payback period of the project?

*
A.
1.8 years.

B.
2.5 years.

C.
2.7 years.

D.
3.0 years.

E.
4.0 years.

Solution:  payback period = 1 + (15,000 - 8,000)/9,000 

                                             = 1.8 years.
11.
What is the net present value of the project at the firm's cost of capital?

A.
about $15,000.

*
B.
about $13,400.

C.
about $11,500

D.
about $10,400

E.
$12,000.

Solution:  NPV = $8,000/(1.12) + $9,000/(1.12)2 + $10,000/(1.12)3 + $10,000/(1.12)4 - $15,000  = $13,433.

12.
What is the risk-adjusted net present value of the project?

*
A.
about $9,000

B.
about $8,500

C.
about $7,900

D.
about $7,400

E.
$8,000.

Solution:  NPV = $8,000/(1.20) + $9,000/(1.20)2 + $10,000/(1.20)3 + $10,000/(1.20)4 - $15,000 = $9,002.

13.
A multinational company is considering the establishment of a two-year project in Germany with a $8 million initial investment. The company's cost of capital is 12 percent. The required rate of return on this project is 18 percent. The project with no salvage value after two years is expected to generate net cash flows of 12 million euros in year 1 and 30 million euros in year 2. Assume no taxes and a stable exchange rate of $0.60 per euro. What is the net present value of the project in dollar terms?

A.
about $30 million

B.
about $12 million

*
C.
about $11 million

D.
about $10 million

E.
about $ 8 million

Solution: Year 1: 12,000,000 euros x $0.60 = $ 7,200,000

                Year 2: 30,000,000 euros x $0.60 = $18,000,000

Net present value = $7,200,000/(1.18) + $18,000,000/(1.18)2 - $8,000,000 = $11,029,015.

14.
A foreign project has an initial investment of $1,400. Its net cash flows are expected to be $900, $1,000, and $1,400 for each of the next three years. The certainty equivalent coefficients of the project are 0.75, 0.55, and 0.35 for each of the next three years. With a 6-percent riskless rate of return, determine the certain net present value of the project.

*
A.
about $140

B.
about $450

C.
about $1,500

D.
about $2,500

E.
about $2,400

Solution:  NPV = $900 (0.75)/(1.06) + $1,000(0.55) /(1.06)2 + $1,400(0.35)/(1.06)3 -       $1,400 = $138.

15.
Which of the following is not a major political risk listed in a study by Goddard?

A.
expropriation

B.
restrictions on remittances of dividends

C.
tax changes

D.
exchange controls

*
E.
high inflation rates

16.
Which of the following is not a major reason for the nationalization of both foreign and domestic companies by many governments?

A.
the government believes that it could run the business more efficiently

B.
the government believes that companies are concealing their profits

C.
politicians wish to win popular support as they save jobs by nationalizing

*
D.
the government wants to operate business firms

E.
the government can control a company or industry

17.
The operational restrictions associated with political risk do not include the following measure       .

A.
employee policies

B.
locally shared ownership

C.
loss of transfer freedom

*
D.
confiscation of business assets

E.
breaches in agreements

18.
According to a study by Kennedy, the largest number of expropriations took place between       .

*
A.
1970 and 1979

B.
1980 and 1989

C.
1960 and 1969

D.
1950 and 1959

E.
1990 and 1999

19.
The Delphi technique of political risk analysis involves       .

*
A.
compiling the opinions of independent experts

B.
using an outside consultant

C.
executive visits to a country

D.
all of the above

E.
both B and C

20.
Defensive measures before investment to avoid political risk of a foreign project include ___. 
A.
planned divestment

B.
careful negotiations
C.
adapting to host-country goals

D.
concession agreements

*
E.
all of the above

21.
A significant upsurge in expropriation will not return in the future because ___.

A. the international demonstration effect discourages expropriation 

B. the  economic consequences of mass expropriation have been negative

C.
the loss of sovereignty over some sectors may be politically accepted

D.
the enhanced capabilities of developing countries
*          E.
all of the above

22.
To become a good citizen of a host country, the multinational company should take the following actions except ___.

A.
use a large amount of locally-supplied raw materials

B. hire local people for managerial positions

C. maintain a competitive edge

*
D.
deflate the subsidiary's profits

E.
make the equity of the subsidiary available to local investors

23.
Countrywide political risks depend on the following three broad groups of variables:

*
A.
political climate, economic climate, and foreign relations

B.
political climate, economic climate, and tax laws

C.
economic climate, foreign relations, and inflation rates

D.
foreign relations, tax laws, and inflation rates

E.
money supply, the balance of payments, and inflation rate

24.
Some popular techniques of political-risk assessment include the following       .

A.
the delphi technique

B.
the grand tour

C.
old hand

D.
quantitative analysis

*
E.
all of the above

25.
The number of expropriations undertaken by foreign governments has        since 1979.

A.
increased slightly

B.
increased substantially

C.
decreased slightly

*
D.
decreased substantially

E.
stayed the same

26.
The grand tour relies on the        visiting the countries where investment is considered.

*
A.
opinions of company executives

B.
gut feeling of independent advisors

C.
opinions of bankers

D.
opinions of government officials

E.
none of the above

27.
A foreign investment decision differs from a domestic decision in the following ways:

A.
net cash flows are subject to exchange-rate changes

B.
foreign investment projects are subject to political risk

C.
foreign investment projects are subject to exchange controls

D.
the cost of capital for a foreign project is higher

*
E.
all of the above

28.
The company’s overall strategy consists of ___.
A.
objectives

B.
policies

C.
resources

D.
A and B

*
E.
all of the above

29.
Which of the following statements concerning cash flow analysis of foreign projects is not true?
A.
the cash outflows and inflows should be analyzed on an after-tax basis

B.
the forecasts ordinarily come from data of similar ventures

*
C.
foreign exchange rates need not be considered

D.
the forecasts may be made by such techniques as the percent-of-sales method

E.
two sets of cash flows must be made, one for the project itself and one for the parent company

30.
When the host country has a stable exchange rate ___.

*
A.
no cash flow problems are presented

B.
cash flow analysis becomes more complicated

C.
permission is required to buy foreign exchange

D.
the remittance of funds to the parent company is blocked

E.
none of the above

Chapter 19
The Cost of Capital for Foreign Projects

1.
The weighted average cost of capital does not deal with the following components:

A.
the cost of equity


B.
the cost of debt after tax

C.
the value of the firm's debt

*
D.
the cost of inventory

E.
the value of the firm's equity

2.
The cost of equity can be derived from the following model:

A.
an inventory model

B.
a cash flow model

*
C.
the capital asset pricing model

D.
a debt model

E.
none of the above

3.
The cost of debt should be derived from the following consideration:

A.
debt capacity of a firm

B.
solvency of a firm

C.
liquidity of a firm

*
D.
after tax interest cost

E.
none of the above

4.
The weighted average cost of capital consists of the following ___.

A.
the cost of debt and the cost of preferred stock

*
B.
the cost of debt, the cost of preferred stock and the cost of equity

C.
the cost of debt, the cost of preferred stock, and the cost of retained earnings

D.
the cost of common stock and the cost of retained earnings

E. the cost of debt, the cost of preferred stock, and the cost of retained earnings

5.
When we calculate the weighted average cost of capital, which of the following methods is superior?

A.
the book value of debt

B.
the book value of equity

*
C.
the market value of debt and equity

D.
the market value of assets

E.
none of the above

6.
The weighted average cost of capital usually goes down up to a certain point if we add

A.
more equity

*
B.
more debt

C.
more preferred stock

D.
none of the above

E.
all of the above

7.
The company's optimum capital structure is compatible with       .

A.
minimizing the company's weighted average cost of capital

B.
maximizing the value of the company

C.
maximizing the company's share price

*
D.
all of the above

E.
none of the above

8.
Multinational companies may lower their cost of capital mainly because       .

A.
they are smart

*
B.
they can obtain additional capital internationally

C.
they have different national work forces

D.
they have political clout

E.
none of the above

9.
The marginal cost of capital means that       .

A.
it is inferior

B.
it is superior

*
C.
the company incurs additional cost by raising additional funds

D.
it is always constant

E.
none of the above

10.
In foreign investment analysis, the optimum capital budget is obtained at the point where       ___.

A.
the net present value is maximized

B.
the internal rate of return is maximized

*
C.
the internal rate of return crosses the marginal cost of capital

D.
all of the above

E.
none of the above

11.
The main reasons why the international cost of capital may be different from the purely domestic cost of capital are due to the following:

A.
the company's accessibility to international capital markets

B.
tax advantages in different countries

C.
exchange rate risk

D.
A and B

*
E.
A, B, and C

12.
Multinational companies may reduce their cost of capital by       .

A.
increasing foreign direct investment

*
B.
diversifying risk across the national boundaries

C.
increasing political pressure

D.
exploiting local labor

E.
none of the above

13.
The optimum capital budget is defined as the amount of investment that maximizes ___.

A.
the market share of the company

*
B.
the value of the company

C.
the net cash flow of the company

D.
earning before taxes of the company

E.
all of the above

14.
The capital asset pricing model is based on the assumption that ___.

A.
no risk is awarded with a risk premium

B.
systematic risk is inconsequential

C.
undiversifiable risk is inconsequential

*
D.
intelligent risk-adverse investor seek to diversify their risks

E.
beta my not be estimated based on historical data

15.
Potential problems in using the capital asset pricing model include ___.

A.
how to compute beta
B.
the market may not be in equilibrium

C.
risk-adverse investors seek to diversify their risks

*
D.
A and B

E.
all of the above

16.
MNCs must account for a number of complicated factors to measure debt including all of the following but ___.

A.
MNCs can borrow in Eurocurrency markets

B.
MNCs can borrow in international bond markets

C.
an estimate of interest rates and proportion of debt to be raised in each market

D.
an estimate of tax rates in each capital market

E.
the firm’s price-earnings ratio

17.
A firm may base their subsidiary cost of capital on ___.

A.
the cost of capital to the parent company

B.
the cost of capital to the subsidiary

C.
a weighted average of the cost of capital to the parent company and the cost of capital to the subsidiary

*
D.
all of the above

E.
none of the above

18.
Which of the following statements concerning the appropriate cost of capital is true?

A.
the discount rate should be increased to account for inflation
B.
an MNC should not use a cost of capital determined world-wide
C.
the cost of capital to the foreign subsidiary should never be used as the cost of capital
*
D.
if a parent company finances the entire cost of its foreign project by itself, the cost of capital to the parent company may be used as the appropriate cost of capital

E.
none of the above statements is true

19.
The optimal capital structure ___.

A.
is where the debt ratio remains fixed, but the amount of capital to be obtained changes

*
B.
is the combination of debt and equity that yields the lowest cost of capital

C.
within the same industry stays the same from country to country

D.
all of the above statements are true

E.
none of the above statements is true

20.
Empirical studies (1988) on cultural values and capital structure have found that:

A.
capital structure norms for companies vary widely from one country to another 
B.
cultural factors cause debt ratios to cluster by country

C.
Southeastern Asian, Latin American, and Anglo-American countries have low debt ratios

*
D.
all of the above

E.
none of the above

21.
The common stock of Global Corp. is selling at $54 per share. It expects to pay a dividend of $4 per share and the dividend will grow at a rate of 9 percent per year. What is the cost of the common stock?

A.
13.7%.

B.
14.9%.

C.
15.0%.

D.
15.5%.

*
E.
16.4%.

Solution: use Equation (19-2):

cost of common stock  = 4/54 + .09 = 16.4%
22.
Global Corp. has bonds outstanding. The bond's yield to  maturity (before-tax cost of the bond) is 12.4 percent and the firm's tax rate is 40 percent. What is the after-tax cost of the bond?

A.
12.4%.

B.
10.9%.

*
C.
 7.4%.

D.
 6.2%.

E.
 4.1%.

Solution: use Equation (19-5):

cost of bond = .124(1 - .40) = 7.4%
23.
Global Corp. has debt with a market value of $80,000 and common equity with a market value of $120,000. The component costs of the capital structure for Global Corp. are 7.4 percent for bond and 16.4 percent for common equity. What is the weighted average cost of capital for Global Corp.?

A.
 7.4%.

*
B.
12.8%.

C.
16.4%.

D.
19.6%.

E.
21.5%.

Solution:  use Equation (19-1):

cost of capital = (120,000/200,000).164 + (80,000/200,000).074

 = 12.8%
24.
The riskless rate of interest is 6 percent, the expected rate of return on a market portfolio is 8 percent, and the beta coefficient of a common stock is 1.2. What is the cost of this common stock?

A.
5.0%


B.
6.3%

C.
7.3%

D.
7.9%

*
E.
8.4%

Solution: Use Equation (19-3):

Cost of common stock = 0.06 + (0.08 - 0.06)1.2 = 8.4%.

25.
A US company borrows Mexican pesos for one year at 30 percent. During the year, the peso depreciates 15 percent against the dollar. The US tax rate is 35 percent. What is the after-tax cost of this debt in US dollar terms?

A.
5.66%

B.
6.00%

C.
6.80%

*
D.
6.83%

E.
7.00%

Solution: Use Equation (19-6):

The before-tax cost of debt = 0.30 x 0.85 - 0.15 = 0.105.

After-tax cost of debt = 0.105 (1 - 0.35) = 6.83%
26.
The price-earnings ratio of a company is 25. What is the cost of the common stock for this company?

A.
25%

B.
20%

C.
10%

D.
 5%

*
E.
 4%

Solution: Use Equation (19-4):

The cost of common stock = 1/25 = 4%.

27.
A firm just paid a dividend of $1.2. Based on your assessment of the riskiness of the common stock, you feel it should pay a return of 20 percent. If the firm's dividends are expected to have a long-term growth rate of 4 percent, what is the market value of the stock?

*
A.
$7.50

B.
$6.20

C.
$5.00

D.
$4.25

E.
$9.99

Solution:  If you rearrange Equation (19-2) for the market price of equity, you will have: market price = dividend/(cost of equity - annual dividend growth rate) =  $1.2/(0.20 - 0.04) = $7.50.
28.
A firm's next year earnings are expected to be $4.00 per share, and the firm follows a practice of paying out 60 percent of earnings as dividends. The long-term growth rate for this firm is 5 percent and the appropriate discount rate is 12 percent. What is the price of this stock?

A.
$10.25

B.
$20.45

C.
$30.00

*
D.
$34.29

E.
$30.25

Solution:  Solve Equation (19-2) for the market price of equity:

Because the dividend per share is $2.40 ($4.00 x 0.60), market price of the stock = $2.4/(0.12 - 0.05) = $34.29.

Chapter 20

Corporate Performance of Foreign Operations
1.
The Foreign Corrupt Practices Act (FCPA) was enacted by the US Congress in       .

A.
1970

B.
1975

*
C.
1977

D.
1980

E.
1985

2.
The Foreign Corrupt Practices Act was amended in 1988.  This amendment makes corporate executives criminally liable:

*
A.
if they falsify accounting records

B.
if they were negligent

C.
if they pay "grease payments"

D.
all of the above

E.
none of the above

3.
Which of the following is not a major decision variable affecting the ultimate choice of a particular organizational structure for the finance function of a multinational firm?

A.
transfer pricing and performance evaluation

B.
tax planning

*
C.
inflation

D.
exchange exposure management

E.
positioning of funds

4.
A study by Abdallah and Keller concludes that the following items are considered to be important in evaluating financial performance of foreign operations.

A.
return on investment (ROI)

B.
profits

C.
budgeted ROI compared with actual ROI

D.
budgeted profit compared with actual profit

*
E.
all of the above

5.
Which of the following is not an indirect tax?

A.
value-added taxes

B.
tariffs

C.
withholding taxes

D.
both A and B

*
E.
capital gains taxes

6.
A neutral tax in the context of international taxation means the equal treatment of       .

A.
American companies in the United States

*
B.
American and foreign companies in the United States and foreign countries

C.
foreign companies in foreign countries

D.
American and foreign companies in UN member countries

E.
all of the above

7.
International taxation affects the following aspects of multinational companies except ___.

A.
the choice of location in the investment decision

B.
the form of new enterprise

C.
the method of finance

*
D.
the level of wages and salaries

E.
the method of transfer pricing

8.
In addition to direct and indirect taxes, multinational companies may have to pay the following taxes.

A.
property taxes


B.
payroll taxes

C.
stamp and registration taxes

D.
sales and excise taxes

*          E.
all of the above

9.
In general, there are three classes of tax systems around the world, which consist of ___, ___, and ___. 

A.
single tax, direct tax, and indirect tax

B.
double tax, single tax, and sales tax

C.
partial double tax, single tax, and payroll tax

*
D.
single tax, double tax, and partial double tax

E.
single tax, double tax, and value added tax.

10.
The main purpose of the foreign tax credit is to       .

*
A.
avoid international double taxation

B.
avoid withholding taxes

C.
avoid foreign taxes

D.
maximize tax collection on a global basis

E.
increase market share

11.
Which of the following is not a necessary condition to become a tax haven country?

A.
a stable government

B.
low taxes

C.
freedom of currency movements

*
D.
no national tax treaties

E.
good communication system

12.
Tax havens include the following countries except ___.

A.
Bahamas

B.
Bermuda

*
C.
Vietnam

D.
Channel Islands

E.
Switzerland

13.
Which of the following does not necessarily mitigate the effect of double taxation?

A.
tax haven

*
B.
foreign subsidiaries in industrial countries

C.
tax treaty

D.
transfer pricing

E.
foreign tax credit

14.
Many European countries have adopted the value-added tax as the major source of revenue to avoid the       .

A.
effect of business taxes

B.
compounding effect of capital taxes

C.
compounding effect of withholding taxes

D.
effect of income taxes

*
E.
compounding effect of sales taxes

15.
Countries enter into bilateral tax treaties to        and thus to       .

A.
avoid double taxation;  discourage the free flow of investments internationally

B.
avoid taxation;  encourage the free flow of investments internationally

*
C.
avoid double taxation;  encourage the free flow of investments internationally

D.
avoid excessive regulatory steps;  encourage the free flow of investments internationally

E.
none of the above

16.
Goods in a foreign trade zone have not entered the country so far as the following factors are concerned.


A.
import documentation

B.
collection of custom duties

C.
the allocation of quotas

D.
other import restrictions

*          E.
all of the above

17.
Advantages of the foreign trade zone to exporters appear to have been       .
A.
exaggerated

B.
well known

*
C.
overlooked

D.
well documented

E.
unknown

18.
Which of the following countries is not a tax haven?

A.
Liechtenstein
B.
the Channel Islands

C.
Bahamas

D.
Bermuda


*
E.
Panama

19.
Many researchers singled out ___ as an important factor influencing the international transfer pricing decision.

A.
import duty minimization

*
B.
income tax minimization

C.
adjusting for currency fluctuations

D.
avoiding financial problems

D. increasing foreign sales

20.
A transfer pricing strategy usually attempts to transfer earnings from a        tax country to a        tax country.

*
A.
high;  low

B.
low;   high

C.
high;  high

D.
low;   low

E.
no;    low

21.
Subsidiary A sells inventory with a cost of $10 to subsidiary B for $15.  Subsidiary B then sells the finished goods with a cost of $15 to a domestic independent third party for $25.  The international transfer price is $      .

A.
10

*
B.
15

C.
25

D.
27

E.
40

22.
Which of the following is not a major transfer-pricing objective?

A.
income tax minimization

B.
import duty minimization

*
C.
market share maximization

D.
avoiding financial problems

E.
adjusting for currency fluctuations

23.
If prices in local currencies are increased by the same percentage as the increase in the cost of imports, ___.
A.
the effect of exchange-rate fluctuations on profits is greater than the effect of a comparable local inflation rate

B.
the effect of exchange-rate fluctuations on profits is less than the effect of a comparable local inflation rate

*
C.
the effect of exchange-rate fluctuations on profits is identical with the effect of a comparable local inflation rate

D.
there is no effect on profits

E.
there is no effect on the interest rate

24.
A management information system is a comprehensive system to provide all levels of management in a firm with information on ___.

A.
production functions

B.
marketing functions

C.
financial functions

*
D.
all of the above

E.
none of the above

25.
The return on investment relates enterprise income to some specified investment base such as ___.

A.
total parent income

*
B.
total assets


C.
total stockholders equity


D.
all of the above


E.
none of the above

26.
Prior to the inception of the Foreign Corrupt Practices Act, Congress felt that US corporate bribery ___.
A.
tarnished the credibility of American business operations

B.
caused embarrassment with allies and foes alike

C.
created foreign policy difficulties

D.
tarnished the world’s image of the US

*
E.
all of the above

27. 
Tax morality ___.

A.
is a tax that would not affect the location of the investment or the nationality of the investor

B.
are those taxes assessed on imported goods

C.
are those taxes imposed by host governments on dividend and interest payments to foreign investors and debt holders

*
D.
is the conflict between profits and ethics

E.
is the excess of deductible expenses over gross income
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